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UGC NET 2021 Economics
Topic:- GP_24NOV_A
1) Study the given table carefully and answer the questions that follow.

Number (N) of candidates (in lakhs) appearing for a University Entrance examination from four different states (A, B, C, D)
and the percentage (P) of candidates clearing the same over the years are provided in the table below

State A B C D
Year N [P(%)IN [P(%)IN |P(%)IN P(%)
2016 231132 |1.64 |42 [2.60 46 [3.3 |29
2017 2.02144 172 |41 24536 [3.1 |32
2018 19839 [2.02 37 22033 [29 |31
2019 1.85[28 [2.10 43 [2.50 |42 [2.7 |34
2020 2.20133 [1.90 |46 [|2.55 30 [3.0 |35

faafafea arfersr &1 samagds afzg st = g gt & sSardifvg:

feg g awt & a1 = - forwr Twsav (A, B, C, D) & u faafyenmey waew adrar & af¥wfaa g ara stvafdat v d=771 (N) (@19
R) T I q0ET F %A g9 are ety o wfveraar (P) fawfafaa arfosra Srgdt € .

s A B c D

T N P%) | N | P%) | N [P%) [N |P%)

2016 2.31 32 1.64| 42 [2.60| 46 |3.3| 29

2017 2.02 44 1.72 | 41 2.45| 36 | 3.1 32

2018 1.98 39 2,02 37 |2.20| 33 |2.9| 31

2019 1.85 28 2,10 | 43 |2.50| 42 |2.7| 34

2020 2.20 33 1.90| 46 |[2.55| 30 |3.0| 35

Find out the total number of students who have cleared the entrance exam from 2016 to 2020 in State A.

2016 & 2020 TF T(ST A & AT IAT H GHA grA a1 (FATITAT #7177 89T ATT FL ¢

[Question ID = 1161][Question Description = S2_qSNz_PG_GP14_Q01]
355460/355460 [Option ID = 4641]
364420/364420 [Option ID = 4642]
360890/360890 [Option ID = 4643]
358660/358660 [Option ID = 4644]

AN w N -

Correct Answer :-
® 355460/355460 [Option ID = 4641]

2) Study the given table carefully and answer the questions that follow.

Number (N) of candidates (in lakhs) appearing for a University Entrance examination from four different states (A, B, C, D)
and the percentage (P) of candidates clearing the same over the years are provided in the table below

State A B C D
Year N [P(%)IN [P(%)IN  [P(%)IN  |P(%)
2016 231132 |1.64 42 |[26046 33 |29
2017 2.0244 [172 |41 24536 |31 |32
2018 19839 [2.02 37 [22033 [J29 [31
2019 1.85[28 [2.10 |43 [2.50 |42 2.7 |34
2020 2.2033 [1.90 |46 [2.55 30 3.0 |35




frafafeg arfersr &1 samagdEs ofzg sz = R ag ot & savdifso:

feT g awt & =1 f3re - firsr TSt (A, B, C, D) & u frafyamas waa <yt /8 aftwfera g ara ssafdat Y =91 (N) (@19
®) T I I4ET § %A 39 aT AeAfqAT #7 wfwerqar (P) fFAwfafas arfousr @ gt g .

fyER) A B C D

v N P%) | N | P%) | N [P%) | N |P%

2016 2.31 32 1.64 | 42 |2.60| 46 | 3.3 | 29

2017 2.02 44 1.72 | 41 [2.45| 36 |3.1| 32

2018 1.98 39 2.02| 37 |[2.20| 33 |2.9| 31

2019 1.85 28 2,10 | 43 |2.50| 42 |2.7| 34

2020 2.20 33 1.90| 46 |2.55| 30 |3.0| 35

Find out the average number of students who qualified in 2020 (from all states).

2020 ® (@Y TISTL /) 96 g arx Farfyay F shag dearara = :

[Question ID = 1162][Question Description = S2_qSNz_PG_GP14_Q02]
1. 84550/84550 [Option ID = 4645]
2. 86770/86770 [Option ID = 4646]
3. 85375/85375 [Option ID = 4647]
4. 84580/84580 [Option ID = 4648]

Correct Answer :-
® 84550/84550 [Option ID = 4645]

3) Study the given table carefully and answer the questions that follow.

Number (N) of candidates (in lakhs) appearing for a University Entrance examination from four different states (A, B, C, D)
and the percentage (P) of candidates clearing the same over the years are provided in the table below

State A B C D

Year N PN PN PN |P(%)

2016 231132 |1.64 |42 [|260 46 [3.3 |29

2017 202144 172 |41 24536 [3.1 |32
2018 19839 [2.02 37 22033 |29 31
2019 1.85|28 [2.10 43 [2.50 |42 [2.7 |34
2020 2.2033 |1.90 46 [2.55 |30 3.0 |35

fafafag arfersr &1 samagds ofzg sz = g rg vt & savdifso:

feg g aut & ATT T - fw wsAT (A, B, C, D) & uF fyafyaney waa vlrar # wiiwfoa €9 arx srexfdat Y =1t (N) @@
®) T I q4ET F B g9 qar AeF TV #1 wfweraar (P) fAwfafas arfasra gt € .

TsT A B C D

g N P%) | N | P%) | N [P%) | N |P%

2016 2.31 32 1.64 | 42 |2.60| 46 | 3.3 | 29

2017 2.02 44 1.72 | 41 2.45| 36 | 3.1 32

2018 1.98 39 2,02 | 37 |[2.20| 33 |2.9| 31

2019 1.85 28 2,10 | 43 |2.50| 42 |2.7| 34

2020 2.20 33 1.90| 46 |[2.55| 30 |3.0| 35

Find out the difference between the total number of students who qualified in 2017 and the total number of students who
qualified in 2018 (from all states):

@Y ST /) 2017 §F %A G a1t =it #1 £ Gq71 AT 2018 F G« gt arot faaridat #7 gor &1 F7T ST ATT FL ¢



[Question ID = 1163][Question Description = S2_qSNz_PG_GP14_Q03]
1. 31750/31750 [Option ID = 4649]
2. 31880/31880 [Option ID = 4650]
3. 32220/32220 [Option ID = 4651]
4. 32340/32340 [Option ID = 4652]

Correct Answer :-
® 31750/31750 [Option ID = 4649]

4) Study the given table carefully and answer the questions that follow.

Number (N) of candidates (in lakhs) appearing for a University Entrance examination from four different states (A, B, C, D)
and the percentage (P) of candidates clearing the same over the years are provided in the table below

State A B C D
Year N [P(%)IN [P(%)IN  [P(%)IN  |P(%)
2016 231132 |1.64 42 |[26046 33 |29
2017 2.0244 [1.72 |41 24536 3.1 |32
2018 19839 [2.02 37 [22033 [J29 [31
2019 1.85[28 [2.10 |43 [2.50 |42 2.7 |34
2020 2.2033 [1.90 |46 [2.55 30 3.0 |35

faafafea arfersr &1 samgd® afeg s = frg o st 3 sSacdifvg:

fag g awt & =T fSre - firsr Twrsat (A, B, C, D) & ua frafyamas w3 g w0eT / aftwfera g ara srvafdat €Y d=a1 (N) (@19
H) shT 38 g0&T & %A gr4 a1a aeAfqai #1 whaeraar (P) frefafag arfasr & Srgar € :

s A B c D

e N P% | N [ P%) | N [P%) [N [P

2016 2.31 32 1.64| 42 |2.60| 46 |3.3| 29

2017 2.02 44 1.72 | 41 2.45| 36 | 3.1 32

2018 1.98 39 2,02 | 37 |2.20| 33 (29| 31

2019 1.85 28 2.10 | 43 |2.50| 42 |2.7| 34

2020 2.20 33 1.90| 46 |[2.55| 30 |3.0| 35

In which year did the highest number of candidates clear the entrance exam from State B?

g a9 & 757 B & Aforwaw dea1 A FvqdfT @ v 7 9% g ?

[Question ID = 1164][Question Description = S2_qSNz_PG_GP14_Q04]
1. 2019/2019 [Option ID = 4653]
2. 2020/2020 [Option ID = 4654]
3. 2016/2016 [Option ID = 4655]
4. 2018/2018 [Option ID = 4656]

Correct Answer :-
e 2019/2019 [Option ID = 4653]

5) Study the given table carefully and answer the questions that follow.

Number (N) of candidates (in lakhs) appearing for a University Entrance examination from four different states (A, B, C, D)
and the percentage (P) of candidates clearing the same over the years are provided in the table below

State A B C D
Year N |P(%)|N P(%) N P(%)IN P(%)
2016 231132 |1.64 42 |26046 33 |29
2017 2.02144 [1.72 41 [24536 3.1 [32
2018 19839 [2.02 37 [22033 [J29 [31
2019 1.85[28 [2.10 |43 [2.50 |42 2.7 |34
2020 |22033 |1.90 {46 [2.55 30 3.0 I35




faafafag arfersr &1 samagds ofzg sz = Ry rg ot & savdifso:

feg g FuT & ATT T - f9w TUsAT (A, B, C, D) & uF fy=afyanmey waa vlrar # giiwfoa 9 ara srexfdat Y =1t (N) @1@
®) T I g4ET F %A g9 qare AeAfqAT #7 wfwergar (P) fawfafas arfasr & gt € .

s A B C D

g N P%) | N | P%) | N [P%) | N |P%

2016 2.31 32 1.64 | 42 |2.60| 46 | 3.3 | 29

2017 2.02 44 1.72 | 41 2.45| 36 | 3.1 32

2018 1.98 39 2.02| 37 |[2.20| 33 |2.9| 31

2019 1.85 28 2,10 | 43 |2.50| 42 |2.7| 34

2020 2.20 33 1.90| 46 |[2.55| 30 |3.0| 35

Find out the average number of non-qualified candidates in 2019 (from all states).

2019 & (@Y TISTY /) qawe reAfat Y shraq g=g7 977 *2 ¢

[Question ID = 1165][Question Description = S2_qSNz_PG_GP14_Q05]
1. 135320/135320 [Option ID = 4657]
2. 144025/144025 [Option ID = 4658]
3. 137270/137270 [Option ID = 4659]
4. 139870/139870 [Option ID = 4660]

Correct Answer :-
e 135320/135320 [Option ID = 4657]

Topic:- GP_24NOV_B

1) What is the name for the technique which uses images that are often more evocative than words, and more precise and
potent in triggering a wide range of associations and thinking?

SH AHATH FTFATATH g Forad faat &7 w2097 a7 SIram § 77 I74: q5%7 F1 A7 Afersw 717 =% FLa ¢ o< faforg v s
qTgITT T HYF 1 1A | 4% a9+ 7 afzpardt ia g ?

[Question ID = 1166][Question Description = S2_qSNz_PG_GP14_Q06]

1. Brainstorming/fa=merasr [Option ID = 4661]

2. Story boarding/®=<T STE [Option ID = 4662]
3. Synectics/ TR [Option ID = 4663]

4. Mind-mapping/#TEs - &fUT [Option ID = 4664]

Correct Answer :-
e Brainstorming/fa=mzraer [Option ID = 4661]

2) The satellite used for the transmission and telecast of SWAYAMPRABHA is called

'EFTIAT & FTr T wqTTOr F AT wAT R S AT STAS FTFIA§ -

[Question ID = 1167][Question Description = S2_qSNz_PG_GP14_Q07]
EDUSAT Satellite/t’g‘ﬁ’c’ 37ag [Option ID = 4665]

GSAT-15 Satellite/sfH#= - 15 3T [Option ID = 4666]

GSAT-3 Satellite/sfiéi= - 3 ITrg [Option ID = 4667]

SP-EDU-15 Satellite/Tad - Tg - 15 37z [Option ID = 4668]

A W N -

Correct Answer :-
e EDUSAT Satellite/Tgée 3Tug [Option ID = 4665]

3) Given below are two statements
Statement I: Personal competencies determine how we manage ourselves
Statement II: Social competencies determine how we handle relationships

In light of the above statements, choose the most appropriate answer from the options given below

A ST HYT RUaCE -



FIT - | : 305 guard Faffea st § 1% g7 a7 va7 39 739 &
FAT - || : gratiys gaard Fuafia F7dT & Fgaada 9 fAam §

SYUF FIAT D AqaATH q, 19 f¥w 17 fAFeai & § Gg7 ITTFT 977 FI1{90Q ¢
[Question ID = 1168][Question Description = S2_qSNz_PG_GP14_Q08]

Both Statement | and Statement Il are correct/®= | & || 11 @&l & [Option ID = 4669]

Both Statement | and Statement Il are incorrect/®= | 3% || =91 Tad & [Option ID = 4670]

Statement | is correct but Statement Il is incorrect/#a= | #gl €, foeq 9+ || 7@ & [Option ID = 4671]
Statement | is incorrect but Statement Il is correct/®a7 | Ted &, foeq 2+ |l F&r € [Option ID = 4672]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are correct/=®5 | 3% |l ==t @2r & [Option ID = 4669]

4) Match List | with List Il

List | List Il

Thinking Hat System Concepts and ldeas

A. White Hat I. Judgement and caution-the logical negative

B. Red Hat Il. Data gathering-facts, figures, information needs and gaps
C. Black Hat Ill. Provocations, alternatives and creativity-proposals

D. Green Hat IV. Intuition and emotions

Choose the correct answer from the options given below:

AT - w7 AT -1l & gAY g

gt -l gt -l
gj:;g?; ST (R (rEgTIeny T fa=Ty)
A. T ardt 1. faofa sire fa=me - arfsds M areas
B. sTer A Il. Y3 TG - T=T, A He, TAAT H T
) AAITHATY N T Frat
C. FTHT St . ST, faFaT T TTATHF - TEqT
D. g<t 2t IV. staeie < qraaTd

19 frg oy fasweqt & @ gt savgfg:
[Question ID = 1169][Question Description = S2_qSNz_PG_GP14_Q09]

A-lIl, B-Il, C-IV, D -l [Option ID = 4673]
A-ll,B-IV, C-l, D -lll [Option ID = 4674]
A-IV,B-l, C-Ill, D -Il [Option ID = 4675]
A-l,B-lll, C-Il, D -IV[Option ID = 4676]

A w N =

Correct Answer :-
e A-lll,B-Il,C-IV,D-I[Option ID = 4673]

5) Which of the following are in the "Six Thinking Hats System", a form of parallel thinking?
A. Brown Hat

B. White Hat

C. Violet Hat

D. Red Hat

E. Black Hat

Choose the correct answer from the options given below:

"gg 5 ot wouredt (s fYfHT doa feew) &, SrawtarHarsrusasv e, Maftfgdasta-saa g ?
A, 98 (F137) 19T

B. & ardY

C. =t 2rdt

D. &1« 2TdY

E. ®TAT 14T

A9 frg g fasweq & & 9 s9TH1 977 fAfvrg:

[Question ID = 1170][Question Description = S2_qSNz_PG_GP14_Q10]

1. A, B and C only/#a= A, B =i C [Option ID = 4677]
2. B, C and D only/#=< B, C ¥ D [Option ID = 4678]
3. C, DandE only/#a< C, D i< E [Option ID = 4679]



4. B, D and E only/#a< B, D siiZ E [Option ID = 4680]

Correct Answer :-
e A, Band Conly/#a A, B T C [Option ID = 4677]

6) An extraneous variable is also known as

FRITATFT ATTHFG AT F JATATATATS ?

[Question ID = 1171][Question Description = S2_qSNz_PG_GP14_Q11]
1. Artifact/AT9afT (swfedae) [Option ID = 4681]

2. Dependent variable/f¥ =% [Option ID = 4682]

3. Intervener/si@:&T (Z2<=17<) [Option ID = 4683]

4. Contiguous factor/®fIf2d #17 [Option ID = 4684]

Correct Answer :-

e Artifact/WTagid (Afehae) [Option ID = 4681]

7) Which of the following are advantages of observation as a tool of data collection?
A. Observation takes place only in natural settings

B. Observation methods demand the active participation of subjects in the programme
C. Observations are known for directness

D. Artificiality can be minimised in observational studies

E. Recording devices can be used in observational studies for accuracy

Choose the correct answer from the options given below:

TAFTE S ST & &TX S0 & faafrfaa A a Fra-aawg ?

A. g daw gTh s sfaa & grar g

B. Seavr fafarat 3 forg srdfaww ® avaf &t afey arfiard #1 srasgwar grdt @

C. &0 WA AT % fAT ST 979 3

D. & YAF FLATFT A FIAAAT FT +LTqH FHAT AT AFAT

E. SIS AeqqTT § qErwar 3 (g RFwed w7 vt giwat (®avga’) s rararawar s
A o o ArFeTt & @ g s FT TIT AR :

[Question ID = 1172][Question Description = S2_qSNz_PG_GP14_Q12]

. A, Band Conly/#a< A, B iz C [Option ID = 4685]
. B, Cand D only/#a= B, C =% D [Option ID = 4686]
. C, Dand E only/#aa C, D i E [Option ID = 4687]
. A, Band E only/#a< A, B T E [Option ID = 4688]

A WN -

Correct Answer :-
e A, Band Conly/#a A, B 3T C [Option ID = 4685]

8) The characteristics of a normal distribution curve are:

A. It reflects an asymmetrical distribution

B. It is bell-shaped

C. It does not show standard deviations

D. The mean, mode and median coincide at the centre of the distribution
E. The curve is based on an infinite number of observations

Choose the correct answer from the options given below:

TTATHT ST IF 1 FAATqTC § ¢

A. 75 saafag fageo 1 wfafafag sward

B. 7g A &TATEIAT R

C. w17 fa=aaw Al fewrar g

D. W&, IEAH T ATFRAFT fAqTr & F5 7T HITAT grar &
E. % & TN IR MeATILT gra1 8

Fr= few 7y fawedt & & 97 STTHT 7 FI9T ¢



[Question ID = 1173][Question Description = S2_qSNz_PG_GP14_Q13]

1. A, B and C only/#a= A, B ¥ C [Option ID = 4689]
2. B, Cand D only/#=< B, C #i¥ D [Option ID = 4690]
3. C, DandE only/#aw C, D ¥ E [Option ID = 4691]
4. B, D and E only/#=< B, D 3fiT E [Option ID = 4692]

Correct Answer :-
e A, Band Conly/#a A, B 3fiT C [Option ID = 4689]

9) Given below are two statements

Statement I: A variable measured at the nominal level can be used in higher-level statistics if it is converted into another
form.

Statement II: The result of the conversion process is called dummy variable.

In light of the above statements, choose the correct answer from the options given below

= s fagaed .

FAT - | : ATAFTAF &I I ATIAT I HT 07 SFEaT qifegh & g1 awar g 7 5@ wwiafa s faar g
FAT - || : FT(TTO HT TOHAT S TECATH FT SAATHT I FFA 3

SYUF FAAT B AATH §, A1 fC 1T fAFeqi & § GgT IACFTIIT FI{9Q ¢

[Question ID = 1174][Question Description = S2_qSNz_PG_GP14_Q14]

Both Statement | and Statement Il are true/=®21< | 3i¥ || 21 77 & [Option ID = 4693]

Both Statement | and Statement Il are false/®9 | 3T || ZHT 9#<T & [Option ID = 4694]
Statement | is true but Statement Il is false/®=< | ¥e7 g , f=q F4 || 3T § [Option ID = 4695]
Statement | is false but Statement Il is true/F= | srcx 2, feq 27 1l 97 & [Option ID = 4696]

A WN =

Correct Answer :-
e Both Statement | and Statement Il are true/#=+ | =i || F¥1 77 § [Option ID = 4693]

10) Match List | with List Il

List | List Il

Types of Design Characterestics

IA. Solomon Four Group Design I. It is a cross-sectional design

B. Post-test only Control Group Design |ll. Contains an additional set of control and experimental groups

C. One-shot Case Study Ill. Omits the pre-tested groups altogather

D. Correlational Design IV. Observation of a single group at one point of time to observe the change

Choose the correct answer from the options given below:

g -l FY gt - F gR T v

AT - T -1l

(FfHFeT B TF) (Frerwam)

A, FIATHT FT AT THE - -

S N— |. Tg T F19 - TFATA ATHFT |

B. T&oa<iq daw fag=or I @ # faf=ror s yrar s a9gf F1¢F
g AfFeT g aqga gat g

Il & - oara gt $71 Qofadr S8 < T

B
Iv. gfeada 1 ¥frg F79 3 frr s auy
R UF qg HT 990

13 frg oy faswear & @ ggrsav AT

[Question ID = 1175][Question Description = S2_qSNz_PG_GP14_Q15]

C. T - AT BT ALTAT

D. GgH & gTeHH SATHHeT

A-l,B-Il, C-lll, D -IV [Option ID = 4697]
A-Il,B-lll, C-IV, D -l [Option ID = 4698]
A-lll, B-IV, C-I, D -l [Option ID = 4699]
A-IV,B-l,C-Il, D -lll [Option ID = 4700]

A W N -

Correct Answer :-
® A-l,B-Il,C-Ill,D-IV[Option ID = 4697]

11) The dynamics of classroom interaction can be effectively managed through

FHT A qrEalew FraT &1 afasY w7 fFas areaw & wAra9qTe 7 & v frqg rarAargwarg ?

[Question ID = 1176][Question Description = S2_qSNz_PG_GP14_Q16]



Verbosity/¢reaTea¥ [Option ID = 4701]

Language complexity/TaT #T STfeerdr [Option ID = 4702]

Interpreting perceived meanings/& Wt T 3=t #T =AT=AT ¢ [Option ID = 4703]
Repetitive symbolism/qaeTadt Tef=h=er [Option ID = 4704]

A W N -

Correct Answer :-
e Verbosity/¢rsarea¥ [Option ID = 4701]

12) Which of the following are myths about communication?
A. Good communicators are born, not made

B. Stage fright is not a communication apprehension

C. Communication skills have nothing to do with relationships
D. Communication has its own barriers

E. Practice leads to the right habits of communication

Choose the correct answer from the options given below:

v & frwg # fafafaa d @ staa faas g ?

A. F=g GITF STFASTT g1 &, IATT AT ST §

B. o fIfY E%wwr £ sreiwT AT |

C. GYT HIAA FTHI T & FIS ATT - IATART &

D. YUl HT 7Tt ITETT FIAT &

E. T¥qTY & WAV #1 TET oaa amaAT &

A= gy faseat & @ gt SATFTITT RN

[Question ID = 1177][Question Description = S2_qSNz_PG_GP14_Q17]

A, B and C only/#a A, B i C [Option ID = 4705]
B, C and D only/#= B, C 3T D [Option ID = 4706]
C, D and E only/#a= C, D 3T E [Option ID = 4707]
A, D and E only/#ae A, D #i¥ E [Option ID = 4708]

A W N -

Correct Answer :-
e A, Band Conly/#a A, B & C [Option ID = 4705]

13) Given below are two statements
Statement I: One's perceptions and beliefs are the basis of generalisation in communication
Statement II: Generalisations of the environment develop through experiences.

In light of the above statements, choose the correct answer from the options given below

fa ST Fgafag T

FIT - | : ATH S 79 ;T GTIOME FHTT H GUATAHIT F SUHTTE

FAT - || : IRA T & qraredisTw agaal @ areaq & sy e g

SYUF FIT 3 AqaATH q, 9 few 17 fFFHeai & | g7 ITTFT 97 71709 ¢
[Question ID = 1178][Question Description = S2_qSNz_PG_GP14_Q18]

Both Statement | and Statement Il are true/®4+ | 3% |l Z41 @1 & [Option ID = 4709]

Both Statement | and Statement Il are false/®=¥ | =¥ || <41 s#<7 & [Option ID = 4710]
Statement | is true but Statement Il is false/®=7 | <7 g, fheq %o || stEer & [Option ID = 4711]
Statement | is false but Statement Il is true/®=7 | 397 g, feq Fa7 Il 1 § [Option ID = 4712]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are true/®= | 3T || T=1 77 § [Option ID = 4709]

14) According to Robbins et al, the sequence of barriers to effective communication in an organisation is
A. Language

B. Emotions

C. Selective perception

D. Information load

E. Filtering

Choose the correct answer from the options given below



T qd =7 F FTA AT G037 7 7wrd) dAwr & A aqqaT FTHAR ©
A. ATYT

B. WTaATE

C. ITATHS TIAT

D. AT AT

E. fReefir

Fr= feg 7y fawedi & & 987 ITTHTII7 FIQ ¢

[Question ID = 1179][Question Description = S2_qSNz_PG_GP14_Q19]

1. A, B, D, E, C [Option ID = 4713]
2. B, C, D, A, E [Option ID = 4714]
3. D, A, E, C, B [Option ID = 4715]
4. E, C, D, B, A [Option ID = 4716]

Correct Answer :-
e A B, D, E, C[Option ID = 4713]

15) Match List | with List Il

List | List Il
Elements of Effective Communication .
Description
IA. Common frame of reference I. Communications with people of similar background
B. Congruence Il. Use of understandable language
Ill. Messages of common interest between encoder and
C. Language relevance
decoder
D. Compatible environment IV. Compatibility between the receiver and the sender
Choose the correct answer from the options given below:
g -1 FT gt -1 F gRT A
gt -l gt -l
(THTET EATT F qIF) (T )
A. TR e I T guf & AT & Ghwor FIAT
fareaTa
B. g qwaT Il. SYGTFT ATHT HT TETT
. lIl. 3% < Feags & AT amwra w3
C. w1971 wre frswar ar
D. sIgeT faqr IV. sIfYUTES o T S & ST gwaar

19 frg g fasweat # @ afrsacgfg:
[Question ID = 1180][Question Description = S2_qSNz_PG_GP14_Q20]

1. A-ll,B-IV, C-l, D -ll [Option ID = 4717]
2. A-IV,B-lll,C-Il, D -l [Option ID = 4718]
3. A-l,B-Il, C-lll, D-IV[Option ID = 4719]
4. A-1l,B-lll,C-IV, D -l [Option ID = 4720]
Correct Answer :-

e A-lll,B-IV,C-I,D-Il [Option ID = 4717]

16) What number comes next in this sequence?

6,4, 2.5 1.5,7?

T gEAT A ATAT GSIT FHIT GV ACIAT ?
6,4, 2.5,1.5,7?
[Question ID = 1181][Question Description = S2_qSNz_PG_GP14_Q21]

1/1 [Option ID = 4721]
0.5/0.5 [Option ID = 4722]
-0.5/-0.5 [Option ID = 4723]
-1/-1 [Option ID = 4724]

A w N =

Correct Answer :-
e 1/1 [Option ID = 4721]



17) How tall is a tree that is 6 meters shorter than a wall that is seven times higher than the tree?

T I8 FROATAFTE ST ST AT/ 6 HATeTFISTY 9T I & TT AT HAT 872

[Question ID = 1182][Question Description = S2_qSNz_PG_GP14_Q22]
1. 7 meters/7 H12Z [Option ID = 4725]

2. 2 meters/2 Hie¥ [Option ID = 4726]

3. 1.25 meters/1.25 H12Z [Option ID = 4727]

4. 1 meters/1 ¥iex [Option ID = 4728]

Correct Answer :-

e 7 meters/7 Hie¥ [Option ID = 4725]

18) If the selling price of X 24 results in a discount of 20% on the list price, what selling price would result in a 30%
discount on list price?

7f¥ % 24 % FaET gog FT IR AT [T 9T 20% FE §, A7 IH FAwT gew wr aforw gEt 477 97 30% g T ?
[Question ID = 1183][Question Description = S2_qSNz_PG_GP14_Q23]

21/21 [Option ID = 4729]
27/27 [Option ID = 4730]
20/20 [Option ID = 4731]
18/18 [Option ID = 4732]

A W N -

Correct Answer :-
e 21/21 [Option ID = 4729]

19) Given below are two statements
Statement I: The number 89325324 is divisible by 66.
Statement Il: The set of natural numbers is also called the set of whole numbers.

In light of the above statements, choose the correct answer from the options given below

AR T vy fRoaed

FIT - | 1 §8IT7 89325324 fywrsa g 66 7

FIT - Il : TTHT GEITH 3 TLFT FT O G AT KT AT AT Fgd §

SYUT FIA1 B MATH /@, 119 f¥g 1w fFweqi & @ ag¥ SO F1 997 FAf™0
[Question ID = 1184][Question Description = S2_qSNz_PG_GP14_Q24]

Both Statement | and Statement Il are true/®= | ¥ |l =T 77 & [Option ID = 4733]

Both Statement | and Statement Il are false/®= | =¥ || Z4T a#<T & [Option ID = 4734]
Statement | is true but Statement Il is false/®== | ¥e7 g , =g F4 || s/@<T & [Option ID = 4735]
Statement | is false but Statement Il is true/®97 | 397 g, feq Fa9 |l ¥ § [Option ID = 4736]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are true/®=+ | &% || T=1 77 § [Option ID = 4733]

20) Which of the following statements are correct?

A. If A's speed is more than B's speed, then to travel the same distance, A will take more time than B
B. Two speeds, 1500 m/min and 90 km/hr are equal

C. By walking at a speed of 18 km/hr, the distance covered in 2 minutes and 30 seconds is 750 meters

Choose the correct answer from the options given below

frafafaa saa7 oz fFrame s

A IFRAFTITAB FT AT & ATAF E, AT AATT IO ITFH 7 ATV B & Ffers gy @10
B. 3T 9Te, 1500 HT./ Tz 3T 90 f T/ &, aATAE

C. 18 et/ &, FT 919 & &7 AT g 2 772 30 s & qF &1 sTAATAT T 750 HieT §
Fr= frT g fawedi & & 987 ST FT 97 H1{9Q :

[Question ID = 1185][Question Description = S2_qSNz_PG_GP14_Q25]

. Aand B only/#ae A 3T B [Option ID = 4737]
. Band C only/#+ B ¥ C [Option ID = 4738]
. Aand C only/Fa+ A i C [Option ID = 4739]
. Conly/#a= C [Option ID = 4740]

A W N -



Correct Answer :-
e Aand B only/#a< A #iZ B [Option ID = 4737]

21) Match List | with List Il

List | List Il

A. If 'A"is True [l. 'E' is True; 'O' is True
B. If 'E' is True |ll. 'O' is False; 'E' is False
C. If 'I' is False [lll. ‘A" is False; ‘I is False
D. If 'O" is False|lV. 'E' is False; 'I' is True
Choose the correct answer from the options given below:

T -1 FT AT -1l | gRF Hifvg

gt -l g -l

A, FfT A |gTT B |. 'E'q<q§; '0' T T 5

B. afy'E'qca g Il.'0' srgeT §; 'E' AAT §
C. afy'I'staca g A" e ;"I TqT 7
D. af¥ 'O wweT § IV. E'srgea g; 'I' 9ea g

= fyg g fawedi & € ggy sAc AT :
[Question ID = 1186][Question Description = S2_qSNz_PG_GP14_Q26]

A-IV,B-Il, C-lll, D -l [Option ID = 4741]
A-lIl,B-l,C-Il, D -IV[Option ID = 4742]
A-ll,B-Ill, C-l,D-IV[Option ID = 4743]
A-l,B-Il, C-lll, D -IV [Option ID = 4744]

A W N -

Correct Answer :-
® A-IV,B-Il,C-Illl,D-I[Option ID = 4741]

22) Match List | with List Il

List | List Il

A. Ashrayasiddha I. Sound is eternal because it is visible

B. Svarupasiddha Il. All real are momentory; sound is real; sound is momentory
C. Vyapyatvasiddha [lll. All objects are eternal because they are knowable

D. Anupasamhari IV. Sky lotus is fragrant because it belongs to the class of lotus

Choose the correct answer from the options given below:

T -l FT gt -1 F gERt fifve

T -l T -l
A, sTaTiarE ||l safT araT & #4115 98 3ITATT &
Il o+t areafa® afirs §; exfy areafas §; safy qfors

&
;Ttu%'q'f%rz; . gt 37 qrAT E TR A ATE

D. srgaEeErd V. srwTe wua guifera § #2406 ag w9« a7 F19380 8
19 frg oy fasweqt & @ gfrsar iAo

[Question ID = 1187][Question Description = S2_qSNz_PG_GP14_Q27]

B. Tq&EITIAE

1. A-lll, B-Il, C-IV, D -l [Option ID = 4745]
2. A-ll,B-IV, C-l, D -lll [Option ID = 4746]
3. A-IV,B-l, C-Il, D-Ill [Option ID = 4747]
4. A-1,B-lIl, C-Il, D -IV [Option ID = 4748]

Correct Answer :-
e A-lll,B-Il,C-IV,D-I[Option ID = 4745]

23) Name the fallacy committed in the argument below
"All men who understand women are potentially perfect husbands.
All potentially perfect husbands are men of infinite patience.

Therefore, some men of infinite patience are men who understand women."

TS W R TT QAT FTATH Iq7¢
"wfgwTe 1 GHAR TR THT [T GWTA €7 F svaef afq &
gt a9 &7 & s ofy €T & a9 grw g @



AT: AT §F IR [F 2V ATLATH FT GAA} 77 (RIA 8 "
[Question ID = 1188][Question Description = S2_qSNz_PG_GP14_Q28]

Illicit major/=rrer |Ter [Option ID = 4749]
Undistributed middle/3=aTa g [Option ID = 4750]
Existential fallacy/fEqeaa¥= q==rT [Option ID = 4751]
Exclusive premises/zITad® smarfear [Option ID = 4752]

A W N -

Correct Answer :-
o |llicit major/sraer |Tex [Option ID = 4749]

24) The middle term of the inference is related to the major term neither as a cause nor as an effect but because they are
uniformly related to each other in our experience, is known as

ATATTFTIYATET @ FAfATE, TFRT I TTR ATALTFTT F &7, K 4G T TAR AINTH TH AL A AUITET 9 {278
T9 FEI | ¢

[Question ID = 1189][Question Description = S2_qSNz_PG_GP14_Q29]

1. Purvavat/qdad [Option ID = 4753]

2. Sheshavat/<roaa [Option ID = 4754]

3. Samanyatodrshta/aTaT=Idrge [Option ID = 4755]
4. Pakshdharmata/™ererdaT [Option ID = 4756]

Correct Answer :-
® Purvavat/q@4ad [Option ID = 4753]

25) Pick the correct option to represent the given argument
All artists are egoists

Some artists are paupers

Therefore, some paupers are egoists

Choose the correct answer from the options given below

farag as srenfag @ @ g ad gz - dvg FTIIT A ¢

AT FATHIC AZHTA 3

FY FATHTILIF @

AT {F TH AGHTAE

[Question ID = 1190][Question Description = S2_qSNz_PG_GP14_Q30]

1. Al - | figure/All - | s*T¥ [Option ID = 4757]
2. All - |l figure/All - 1l 3T [Option ID = 4758]
3. Al - 1l figure/All - |Il =TT [Option ID = 4759]
4. Al - IV figure/All - IV =TTZ [Option ID = 4760]

Correct Answer :-
o All- | figure/All - | T [Option ID = 4757]

26) What is the World Wide Web (www)?

8 ATES AT (Www) FITE ?

[Question ID = 1191][Question Description = S2_qSNz_PG_GP14_Q31]

1. Collection of webpages stored on websites/aa|Tzel T ST Jadsii T §Ig [Option ID = 4761]
2. Interconnected networks/ T FHY ¥ = gU dza# [Option ID = 4762]

3. Hypertext processor/grzaveFee SEa [Option ID = 4763]

4. Web browser/a aT3si¥ [Option ID = 4764]

Correct Answer :-

e Collection of webpages stored on websites/3aH Tzt 9T WeTHd Fadsi & @0 [Option ID = 4761]

27) What is Ethernet?
FIT FATE ?

[Question ID = 1192][Question Description = S2_qSNz_PG_GP14_Q32]

. A protocol used by many wired LAN's. /a1 & 2 #% a1 (LAN) ZTT Y<h STerai« [Option ID = 4765]
. A protocol used for address translation/TgH giaer & forw wor<h STt [Option ID = 4766]

. A security protocol/H&T SErEie [Option ID = 4767]

. A collision-detection protocol/aferstr - fRZ=Fer Trerwie [Option ID = 4768]

A w N =



Correct Answer :-
e A protocol used by many wired LAN's. /ATt & 2 &% @41 (LAN) BT W<k STeraier [Option ID = 4765]

28) Match List | with List Il

List |

List Il

IA. System Software

I. Library Management System

B. Application Software

Il. Firewall

C. Security Software

Ill. Compiler

D. Embedded Software

IV. Automatic fridge

Choose the correct answer from the options given below:

g -l FY gt - F gR T A

g -l gt -l

A. faTew FivEaaT I ATER & AATHE freaw
B. Ufter® gr giweaa< Il. ®TaLatea

C. THAT ATFEIT I ll. F9159

D. wi¥wfygw atweadax Iv. Tg=Tfera e

19 frg g faswear & @ gt sav AT
[Question ID = 1193][Question Description = S2_qSNz_PG_GP14_Q33]

A-l,B-lll, C-IV,D-Il [Option ID = 4769]
A-ll,B-IV, C-I, D -lll [Option ID = 4770]
A-lIl,B-IV, C-l,D-Il [Option ID = 4771]

1.
2.
3.
4. A-lll,B-I,C-Il, D -V [Option ID = 4772]

Correct Answer :-
e A-l,B-lll,C-IV,D-Il [Option ID = 4769]

29) Given below are two statements
Statement I: DVDs use a single spiral ‘track’ to store data working from the centre to the edge.
Statement II: DVDs are Read-only devices

In light of the above statements, choose the correct answer from the options given below

fa T FgT g !

FIT- | : ST AT ST A STT FT FARLT FI7 & FOQ T qafAT ¢F FT 7G0T FHFITHIATE 1T T A LEF F BN HT AT IEA §T
T4 HTATE

FIT - Il : 7 7 T Faw - g3t (AT - ATAY) fearza &
SYUF FIAT D AqATH q, 19 f¥w 17 fAHedi & | g7 ITTFTIIT F1{9Q ¢
[Question ID = 1194][Question Description = S2_qSNz_PG_GP14_Q34]

Both Statement | and Statement Il are true/®= | ¥ || =1 77 & [Option ID = 4773]

Both Statement | and Statement Il are false/®= | =¥ || Z4T a#<T & [Option ID = 4774]
Statement | is true but Statement Il is false/®=< | ¥7 g , =g F4 || s § [Option ID = 4775]
Statement | is false but Statement Il is true/= | sr<a g , faeq %2 || ¥ & [Option ID = 4776]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are true/®2< | 3% || T 77 & [Option ID = 4773]

30) Which of the following statements are true?

A. Simplex data transmission is in two-directions only

B. Half-duplex data transmission is in both directions but not at the same time

C. Full-duplex data transmission is in both directions simultaneously

D. Serial data transmission is when data is sent, 8 bit at a time, over a single wire
E. Parallel data transmission is when one bit of data is sent down over a single wire

Choose the correct answer from the options given below:

fafafaad @ 78 Faaadt g ?

A. FEd g STET §9T0 a9 37 Rt & rar g

B. e - TAFH STST AL ST (LTS | GIAT S IT TH &1 a9T § AT
C. I0f ToAFT STST AL TH g1 AHT | 11 (LT | IAT§



D. FiaE STST H§FIW AT GIaAT § AT STETHT, TH AT H 8 fHT FH, THA AT I AT ATAT &
E. GHTITSTSTH9X0 I GIAT g 99 TF {4 STSTHT THA AT I AT ATAT 8

= YT g faHedi § ] 9g7 ST HT AT HI19Q ¢

[Question ID = 1195][Question Description = S2_qSNz_PG_GP14_Q35]

1. A, B and C only/#a= A, B =¥ C [Option ID = 4777]
2. C, D and E only/#a< C, D si¥ E [Option ID = 4778]
3. Cand D only/#=< C i D [Option ID = 4779]
4. Band C only/#== B 3T C [Option ID = 4780]

Correct Answer :-
e A, Band Conly/#a A, B 3T C [Option ID = 4777]

31) In agricultural regions, groundwater can have significant concentrations of which pollutant?

F AFT F oa & FFT IguF FT AT ATATEI TFHATR ?
[Question ID = 1196][Question Description = S2_qSNz_PG_GP14_Q36]

1. Lead/T [Option ID = 4781]

2. Cadmium/#=fa=® [Option ID = 4782]
3. Selenium/&< =% [Option ID = 4783]
4. Nitrate/aTzZ= [Option ID = 4784]

Correct Answer :-
e Lead/HTHT [Option ID = 4781]

32) Which of the following types of power plants provide electricity consistently running 24 hrs per day, 7 days a week?

frafafeg & @ g wore & oot 997 24 =42 vfy a7 sz 7 fa7 wfy garg o0 g frafag w0 @ fawst wea v € 2

[Question ID = 1197][Question Description = S2_qSNz_PG_GP14_Q37]
1. Geothermal/+ - arfr= [Option ID = 4785]

2. Solar/® [Option ID = 4786]

3. Wind/7= [Option ID = 4787]

4. Hydro/st<t [Option ID = 4788]

Correct Answer :-
e Geothermal/+ - ardir [Option ID = 4785]

33) Which of the following Green House bases were the target gases whose emission was to be covered under the first
commitment period of the Kyoto protocol?

A. SO,
B. CO;
C. N2O
D. NH3
E. CHy4

Choose the correct answer from the options given below:

frafafaa d 8 17 - @Y AT R 49 F qfAT 49 o7 RBrad @S 1 FAET NESTFHA 3 T47 TIATEAT FTAH @ 04 A A147
AT AT ?

A. SO;

B. CO;

C. N2O

D. NH3

E. CH4

Fra frT g fawedi & & 987 ITTHT 97 FI{9Q

[Question ID = 1198][Question Description = S2_qSNz_PG_GP14_Q38]

. A, B, Cand D only/#a A, B, C v D [Option ID = 4789]
. A, Band Conly/#aa A, B iz C [Option ID = 4790]
. B, C, DandE only/#a B, C, D ¥ E [Option ID = 4791]
. B, Cand E only/#=< B, C ¥ E [Option ID = 4792]

A W N -



Correct Answer :-
e A, B, C and D only/#a< A, B, C iz D [Option ID = 4789]

34) In India, according to Niti Ayog's SDG Index (2019-2020), which is the best performing state on SDG-9 (Industry,
Innovation and Infrastructure)

T sraTr B T ST AT gAHTF (2019 - 20) F AATT ATF F TH ST ST - 9 (SHTT, TATATL T SHIEEHFAT) T AT TZAT
fRrsTTET F33 ATATAST FIT - TR ?

[Question ID = 1199][Question Description = S2_qSNz_PG_GP14_Q39]
1. Kerala/#% [Option ID = 4793]

2. Gujrat/vsrera [Option ID = 4794]

3. Karnataka/# == [Option ID = 4795]

4. Telangana/I= T [Option ID = 4796]

Correct Answer :-
e Kerala/#¥< [Option ID = 4793]

35) Identify the correct sequence of wind energy potential at 100 m above ground level in decreasing order
A. Karnataka

B. Andhra Pradesh

C. Gujarat

D. Tamil Nadu

E. Andaman and Nicobar Islands

Choose the correct answer from the options given below

L ETTE 100 /Y. FT FATE TTIGT ST AAAT F TET FAU G HH HT TZATA L
A. Ffes

B. T er IReT

C. ST

D. aTfaeTg

E. &A1Y 7 faswrame fgwagg

1= fRg g fasweat / @ gt ST HT 977 MY :

[Question ID = 1200][Question Description = S2_qSNz_PG_GP14_Q40]

1. A>B>C>E>D

[Option ID = 4797]
2. D>C>A>B>E

[Option ID = 4798]
3. C>A>B>D>E

[Option ID = 4799]
4, C>E>B>D>A

[Option ID = 4800]
Correct Answer :-
® A>B>C>E>D

[Option ID = 4797]

36) Match List | with List Il

List | List Il

A. Lay down standards of legal education I. NCTE

B. Maintaining the quality of technical education Il. AICTE
C. Maintenance of standards in teacher education 11l. NMC

D. Access to quality and affordable medical education |IV. BCI

Choose the correct answer from the options given below:

T - FY gt -1 F gRTa v

gt -l gt -l
A. fafy farar & wras i ST l.gg a1 s




B. IFATHT Farerr 1 [ura<it £ I97C T@AT L‘ T

C. fareg= freaT & ATTHT FT TITT TGAT . T TH 9%
D. TuraATyY X 7gT FA 177 Fufwear frar as . ot &t s
Kl '

19 frg oy fasweqt & @ aftsacgfg:
[Question ID = 1201][Question Description = S2_qSNz_PG_GP14_Q41]

1. A-IV,B-ll,C-I, D-lll [Option ID = 4801]
2. A-1,B-Il,C-IV, D -l [Option ID = 4802]
3. A-ll,B-lll, C-IV, D -l [Option ID = 4803]
4. A-lll,B-IV, C-l,D-ll [Option ID = 4804]

Correct Answer :-
e A-IV,B-Il,C-l,D-Ill [Option ID = 4801]

37) University of the ancient period which has been declared by UNESCO as a heritage site is:
A. Mithila

B. Vallabhi

C. Pushpagiri

D. Takshashila

E. Nalanda

Choose the correct answer from the options given below:

T F1d & F Frafyarag g gaen 1§ gOge sga arfya frar g .
A. fafyrar

B. aeAHT

C. gsafirdy

D. g@faraT

E. AT9 T

19 frg g faseq & & 9 sATH1 977 Vg :

[Question ID = 1202][Question Description = S2_qSNz_PG_GP14_Q42]

1. Aand B only/#= A i B [Option ID = 4805]
2. Band C only/#a= B ¥ C [Option ID = 4806]
3. Cand D only/#a< C 3% D [Option ID = 4807]
4. D and E only/#== D #i¥ E [Option ID = 4808]

Correct Answer :-

e Aand B only/#a< A #i¥ B [Option ID = 4805]

38) The first education commission in Independant India is:
T WILT A TgAT faUqr s g

[Question ID = 1203][Question Description = S2_qSNz_PG_GP14_Q43]
1. Secondary Education Commission/®Tea{®e foreaT =T [Option ID = 4809]

2. The Education Commission/for&rr T [Option ID = 4810]

3. University Education Commission/fa=afa=rmerar farear s [Option ID = 4811]

4. National Knowledge Commission /g1 ST 3T [Option ID = 4812]

Correct Answer :-
e Secondary Education Commission/@Teate far=ar st [Option ID = 4809]

39) Gender Parity Index in higher education in India is:

AT A I a7 & fRr gATAAT gAFIF Q ¢

[Question ID = 1204][Question Description = S2_qSNz_PG_GP14_Q44]
1. 1/1 [Option ID = 4813]

2. 1.1/1.1 [Option ID = 4814]

3. 0.99/0.99 [Option ID = 4815]

4. 0.98/0.98 [Option ID = 4816]

Correct Answer :-
e 1/1 [Option ID = 4813]



40) Which of the following are Central Universities?
A. Dr. Babasaheb Ambedkar Open University

B. Jamia Millia Islamia

C. Panjab University

D. Punjabi University

E. University of Mumbai

Choose the correct answer from the options given below:

fafafas d @ s faeRo=asig-a €2

A. ST ITITATRT AFTH { farafazmay

B. strfarar farfeaar searfrar

C. dsrre ferafaemery

D. goirst fasafaamarg

E. §a% faafaemay

A= frg g faFeat & @ @t ITTHT T AT <

[Question ID = 1205][Question Description = S2_qSNz_PG_GP14_Q45]

1. Aand B only/#a A 3T B [Option ID = 4817]
2. Band C only/#a B i C [Option ID = 4818]
3. CandE only/#=e C si¥ E [Option ID = 4819]
4. Cand D only/#a= C % D [Option ID = 4820]

Correct Answer :-
e Aand B only/#a< A #i¥ B [Option ID = 4817]

Topic:- GP_24NOV_C

1) Read the given passage and answer the following questions.

Despite the fact that social security programmes in India are not responses to structural adjustment but have a long history
of their own. Social expenditure in India is nevertheless particularly vulnerable to budget cuts. The social sector is a major
spending area of the government, comprising poverty reduction interventions, health, education, nutrition, social assistance
and social welfare. Most departments of government are in some way responsible for spending under this broad head.

The sector is highly divisible, thus facilitating incremental and piecemeal reductions in real expenditure. It has a weak
political constituency, dominated by technical-expert persons, which the mass of evaluative research that has historically
been critical of state interventionism has further weakened. Such work has been put to uses other than those originally
intended - not to reform the sector but as justification to abolish major components of it entirely. However, since 1991,
social sector expenditure has not declined as much as had been anticipated. Despite, or because of, its departmental
pervasiveness, it is an extremely-perhaps uncuttable-low proportion of GNP: 2.4 per cent as compared with 6.5 per cent in
Malaysia, 12.2 per cent in Botswana and 15-25 per cent in OECD countries. Even though social sector expenditure is also
flawed by spatial patchiness, conflicting time trends in expenditure levels and composition and patterns specific to each
component of welfare, cuts have been widely resisted and certain Indian states have increased their current debt in order
to protect social expenditure. There is, fortunately, and necessarily, speculative literature predicting, sometimes with
illustrations drawn from elsewhere, the likely outcomes of cuts in various types of social expenditure. But it is far too early
for these to be evidence of the actual impact on social welfare is a long-term project of several decades.

TITA FT I8 T ToF & SR ¢

T AT B AT T3 AT | qraTirs QAT FTAHT AT GHTATT H1 TATHATE AT I3F ITFT HI9T TFH AT (AT g,
7T & ATATIE ST I IS F FT T1H ATAT FeITaqT @ AT T TATT T3 FT I IGATE QTATIHF &F GHTH =T F7
TF TqE &7 & fad 70 79 F@ 3 o geq@w, wqaresy, U@t 99w, gATT G797 AT GATT FATH qRATAT § qIHL R
afermier faswra frdt 7 fFdi € 7 s fega e 3 gga @« 70 @ g Sa<ardt g € 78 a= afy frvrsy g Rras g9g
Freafas =17 ® gfgas vd g gt am o gfaar sra id @ zas1 aaHies 9w FAsT g T gwd gt Ay
TN AT AATTATE AFATIRIF T F ST TEAXTATE FT SOATHAT FIA @A ITA ATTHT A [RATHATAS 7T § T8 o< arfers
AFTHTEITE U [T T AT ALIT T g AT TI1 R TITZTIET R - TT AT FT AR & e a8t afeF 793 wqw

qETHT HT QUTAT GATH LT 3 T% 3 €TH a8 1991 F GUa7iors @ IR AT § ITAT FHT 751 s § a7 wearfara o« a4t
faariig =ATTH % 19T ITSTD FILT I8 G5 TPIT IITE FT TG ol GIST (60T &, SAAT GIeT 6 ST FEIAT FATETT T
g1 : 2.4 wfaaa safs aafar & 75 6.5 wfvwd g, Srgearar & 12.2 wfoaa sk a1t aai § 15 - 25 wfaaa =iy grarfos
T ICAT A FE THL D T @ - ST FAwAamd, =77 3 e & 700 - fFadt arafys sgivat drseamow @ gracs A
fafare gavstaT sz &=t &7 97T - a7y T fIaT &1 =m0 ATy gar g T g7y Aty UsAT 1 ararirs =7 77 gfag @
& frT o Fr ww A Ffg 7 & Aywrray A< afrarda: Yut srgAThAT argga & 5, FH? - FET AR TATAT @ IITEIW AN g,



qraTirs = § FAA & g arfea afcurat #7 wfrsgareft $Ia1 8 g AT AT AT FTAATT FIATT I ATEIAF THTT B
THTN & €T H Trg AAT A2 T STeQATSHT GIT AT FEATT HT FTTAL F3 SART HT ST AT JTAAT

Social security programmes in India encounter the issue of

AT & qraTiors grar s wA f5q auear FTATATTFAQ € ?

[Question ID = 1206][Question Description = S2_qSNz_PG_GP14_Q46]
1. Direct implementation/Yeaet FaT===I= [Option ID = 4821]

2. Indirect implementation/9=rer FTaT=aa+ [Option ID = 4822]

3. Increased government intervention/T<aTT T JAferF geaerd [Option ID = 4823]

4. Structural rearrangement/et=Td T=4a=4T [Option ID = 4824]

Correct Answer :-
e Direct implementation/seer wTateaa+ [Option ID = 4821]

2) Read the given passage and answer the following questions.

Despite the fact that social security programmes in India are not responses to structural adjustment but have a long history
of their own. Social expenditure in India is nevertheless particularly vulnerable to budget cuts. The social sector is a major
spending area of the government, comprising poverty reduction interventions, health, education, nutrition, social assistance
and social welfare. Most departments of government are in some way responsible for spending under this broad head.

The sector is highly divisible, thus facilitating incremental and piecemeal reductions in real expenditure. It has a weak
political constituency, dominated by technical-expert persons, which the mass of evaluative research that has historically
been critical of state interventionism has further weakened. Such work has been put to uses other than those originally
intended - not to reform the sector but as justification to abolish major components of it entirely. However, since 1991,
social sector expenditure has not declined as much as had been anticipated. Despite, or because of, its departmental
pervasiveness, it is an extremely-perhaps uncuttable-low proportion of GNP: 2.4 per cent as compared with 6.5 per cent in
Malaysia, 12.2 per cent in Botswana and 15-25 per cent in OECD countries. Even though social sector expenditure is also
flawed by spatial patchiness, conflicting time trends in expenditure levels and composition and patterns specific to each
component of welfare, cuts have been widely resisted and certain Indian states have increased their current debt in order
to protect social expenditure. There is, fortunately, and necessarily, speculative literature predicting, sometimes with
illustrations drawn from elsewhere, the likely outcomes of cuts in various types of social expenditure. But it is far too early
for these to be evidence of the actual impact on social welfare is a long-term project of several decades.

TATA FY I8 T ToT & ITLT ¢

T TeT F A T A13q & Ararioes grar w1 giarrg gurarsa 7 yiaftFrard 78 afew %1 orqar v wav gfygra g,
qTIT & ATATINE ST AL IS/ FT TTH ATAT FITAAT @ AT T TATT T857 FT I IGATE ATATIHF &7 GHTH =T 7
TF TqT &7 § ™ad a8+ 77 737 @ U geagdw, waresy, g1, AW, T GETAAT AT AATT AT GRFATHT & G D
afdrawter v fdt 7 fFE €T R s REga a3 aga @« #¢ 3 fag ITeardt g7 § a8 &= afy fararsa & s 9w
Freafas =17 § gfgues vd g wfat am «F gfaar oo Sidt & gasr uaHiias gew FAsT g T g@d garat faauy
T AT AATTAT S AFATRIE 77 @ UST geagaars T sUATAAT FIQ@ @A ITH ATHRT A LATHATAS arer § 59 T srfers
AFT HTEITE U [IT T AT ALFT T g2 AT TI1 R TIOTETIETE - TT AT FT AR & g 98t af3F 793 wqw

qETHT HT QUTAT TATH FIA B T% % € TR a 1991 F GUa0iorsd @ 4T/ ITAT FHT T&1 o< g 7= wearfira ot o1
faarfig =iy % ITaYT ITSTR FIIO I FFA TPIT ITITE FTIET a1 SIST (GFAT &, TTAT HIeT 76 397 Ferdr sAraqa T
g1 : 2.4 wivaa safF aafar & 77 6.5 vfvwd g, Srgearar & 12.2 wfaaa iz w1t aai § 15 - 25 wfaaa =iy qrarfos
A TTAT A F TF D 1T § - TATT fAwward, =77 & a0 & 70 - Ay arafys wgfat sk weamw 2 graes &
fafars gavsray sivT gt=t &7 a7 - a9y FATIAT F7 AToF AT gan § AT FF AT USAT 4 qrAviEd w7 w7 gfug @
& frg oo A1 ®w A gfg Y & aywreras < afarda: Yo stgAthas argya g s, FHY - FET AR TATAT @ IITEIW A §,
qraTiT® =g § FAA & @ wrfeg afeurat F1 afrsgareft $IT7 8 I AT AT AT FTAATT FITT I TEI AT THTT D
TN & T H T7g AAT ST STELGTHAT ZIAT THATST FSATH FT FITICT FE FART AT ST AT &

The government spending on poverty reduction programmes suffers from

T 7 FA B FIERAT I IEHTE @ G TFAHT 979 8778 ?

[Question ID = 1207][Question Description = S2_qSNz_PG_GP14_Q47]

. High demand from prospective beneficiaries/aTT srarfi=t grer sfersk AT [Option ID = 4825]

Too many divisible allocations/agd @ faaTs7 aa=+ [Option ID = 4826]

Down-sized expenditure in real terms/aTed{a® 12 ¥ %% FF=1 72T =77 [Option ID = 4827]

Several social welfare programmes competing for funds /=TT & forT 2 TS FeaTor FTAFAT F §1= TraeTear ZHT [Option ID = 4828]

AW N =

Correct Answer :-
e High demand from prospective beneficiaries/wT=T @i grT =rférs wiw [Option ID = 4825]

3) Read the given passage and answer the following questions.



Despite the fact that social security programmes in India are not responses to structural adjustment but have a long history
of their own. Social expenditure in India is nevertheless particularly vulnerable to budget cuts. The social sector is a major
spending area of the government, comprising poverty reduction interventions, health, education, nutrition, social assistance
and social welfare. Most departments of government are in some way responsible for spending under this broad head.

The sector is highly divisible, thus facilitating incremental and piecemeal reductions in real expenditure. It has a weak
political constituency, dominated by technical-expert persons, which the mass of evaluative research that has historically
been critical of state interventionism has further weakened. Such work has been put to uses other than those originally
intended - not to reform the sector but as justification to abolish major components of it entirely. However, since 1991,
social sector expenditure has not declined as much as had been anticipated. Despite, or because of, its departmental
pervasiveness, it is an extremely-perhaps uncuttable-low proportion of GNP: 2.4 per cent as compared with 6.5 per cent in
Malaysia, 12.2 per cent in Botswana and 15-25 per cent in OECD countries. Even though social sector expenditure is also
flawed by spatial patchiness, conflicting time trends in expenditure levels and composition and patterns specific to each
component of welfare, cuts have been widely resisted and certain Indian states have increased their current debt in order
to protect social expenditure. There is, fortunately, and necessarily, speculative literature predicting, sometimes with
illustrations drawn from elsewhere, the likely outcomes of cuts in various types of social expenditure. But it is far too early
for these to be evidence of the actual impact on social welfare is a long-term project of several decades.

THTA FT I8 T TF & SR ¢

T TSI B FTAS[E T3 AT | qraTirs QRaAT FTAHT ST AT GHTATST H1 TATHATE AT 3% ITHT 97T TF A7 (AT g,
7T & ATATINE ST I IS § FT T19 ATAT FeITaql @ AT T TATT T3 FT I IGATE QTATIHF &7 GHTH =T F7
TF TqE &7 § foad 70 79 F@ 3 o geq@w, wqaresy, @t 99w, qATS 9graar ;T AT FATH qRAAT § qIHE R
afrmier faswro frdt 7 fFdi € 7 s fRega a3 gga @ 7 @ g Suardt g & 78 a7 afy frvrsy g Rras 39g
Freafas =77 ® gfgas vd g wfat am o gfaar st id & zas1 uaHiies 9w FAsT g T g@d gt faduy
TN AT AATTATE AFAFTIRIF T F UST TEAXTATE FT SOATHAT FIA @A ITH ATYHT A LRATHATAS a7 § T8 o< arfers
AfT FTRITE @ [T FTAT ALTT 8 G T TN A TITEIIGTE - TT AT FT ATA 3 forg 7t afes 3o wqa

qETHT HT QUTAT GATH FIT 3 T% 3 €TH a8 1991 § GUa7iors @7 IR AT § ITAT FHT 751 a0s § a7t wearfara o« sa4T
faariig =ATTH % ITa9T ITISTD FIAT Ig G5 TPIT IITE FT TG ol SIST (60T &, SAAT GIeT 6 ST FEIAT FEATETT T
g1 : 2.4 wfaaa safs aafrar & 77 6.5 wfvwd g, Srgearar & 12.2 wfoaa sk g1t aai § 15 - 25 wfaaa =iy ararfos
FTITAT A F THX D T(T @ - AT Awaamd, a7 3 e & 70 - faadt arafys sgfvat fxssamow 2 gracs A
fafare gavstaT sz &=t &7 97T - a7y F T &1 = araF ATy gar g T g7 Aty UsAt 1 arariors =7 77 gfag @
& e o A1 ww A Ffg 7§ Arwrray < afvarda: xar swgAthAT avgga § o, FHY - FET AR TATAT @ IITEIW AN g,
qraTirs = § At & @ arfew afcurat #1 wfrsgareft $Ia18 I7g A1 AT AT FTAATT FATT I ATEIAF THTT B
TN & T H T7g AAT TST STeqq TS GIAT THATS FEATH HT FTTILT HE FART AT SUTTA0 TISTAT &

The expert evaluation reports are used to

frawst 1 geaiwa fearet w7 a7 frarsrart g .

[Question ID = 1208][Question Description = S2_qSNz_PG_GP14_Q48]

1. Reform the social welfare sector/FHTST FATI &= T GeTeA & forw [Option ID = 4829]
2. Support the government spending on social sector/aTHTIE &3 9% 3T ST aTer ARl =77 T THAT w7 & o7 [Option ID = 4830]
3. Strengthen the political constituency of social security/HTHTISIF HTEAT & TSIHTA e HT TSTgdT TaT9 F74 & forw [Option ID = 4831]
4. Justify banishing the social security system/STHTIS TTEAT SHET T THIT FT AT ST sg¥7 & {7 [Option ID = 4832]

Correct Answer :-
e Reform the social welfare sector/®HTST FEATT &3 % T & for7 [Option ID = 4829]

4) Read the given passage and answer the following questions.

Despite the fact that social security programmes in India are not responses to structural adjustment but have a long history
of their own. Social expenditure in India is nevertheless particularly vulnerable to budget cuts. The social sector is a major
spending area of the government, comprising poverty reduction interventions, health, education, nutrition, social assistance
and social welfare. Most departments of government are in some way responsible for spending under this broad head.

The sector is highly divisible, thus facilitating incremental and piecemeal reductions in real expenditure. It has a weak
political constituency, dominated by technical-expert persons, which the mass of evaluative research that has historically
been critical of state interventionism has further weakened. Such work has been put to uses other than those originally
intended - not to reform the sector but as justification to abolish major components of it entirely. However, since 1991,
social sector expenditure has not declined as much as had been anticipated. Despite, or because of, its departmental
pervasiveness, it is an extremely-perhaps uncuttable-low proportion of GNP: 2.4 per cent as compared with 6.5 per cent in
Malaysia, 12.2 per cent in Botswana and 15-25 per cent in OECD countries. Even though social sector expenditure is also
flawed by spatial patchiness, conflicting time trends in expenditure levels and composition and patterns specific to each
component of welfare, cuts have been widely resisted and certain Indian states have increased their current debt in order
to protect social expenditure. There is, fortunately, and necessarily, speculative literature predicting, sometimes with
illustrations drawn from elsewhere, the likely outcomes of cuts in various types of social expenditure. But it is far too early
for these to be evidence of the actual impact on social welfare is a long-term project of several decades.



Tt FY 9 T T & STLR ¢

TH qET B FTIS[E (3 AT | GUATIES GIAT FTAHT ST AT GHTATTT HT TIATHATE TT IF ITHT HI9T TH AT (AT T,
qTA & qraTirs =g gr e & #1919 a7t FATIAT @ fTAT €T F U979 787 FT QA EGAT ] ATATIF §F GIHTH AT FT
U Tq@ @7 g fad a8+ 77 w3 @ forg geady, caresy, g1, 9w, 9T GgrAAT AT AATT o107 afEAforg @ a@we s
Fferaier fawTw et 7 fFdi w77 so Rega e 3 ggg @ 7@ 3 g Sacardt g € 7 a7 afy fyvrsy g Bras 399
Freafa® =T § gfEaes vd g gt am 1 gfaar ora St & 99571 UTH T 9w FAS 8 T gwH gHArH fAquy
M FTAAITATE YRATTIRAT TT @ ST EEIATATE HT OATAAT FIQ LA ATA ATHFT A AIATHATAS M7 & 39 T orfarsw
AFTFTITE T [T FT AT ALHT T §ed 7T TR TITZT LTS - TT T FT AR & o7 a8t 977 399 wvq@

qeH BT QUIAT AATA FLA 5 q% & €TH a8 1991 § GTATIS §F I AT A SAAT FHT T&1 A% g (AqAT TATIRT AT AT
fawrfia STy 3 FTaS IT IR FIO T AFT UFPIT ST FT AT &1 G121 fgedt §, 37471 &ret i a9 Fdt Fargwa 7
g : 2.4 wiaaa safF aafar & 77 6.5 wfywd g, Sreearar & 12.2 wfaaq sk a1t aai 9 15 - 25 wfaaa =iy qrarfosw
FTILATH FE THL D T(T§ - SATHT F{wAqTd, 7 3 w90 & 709< - fF0rdt arafys wgfvaf dxssamow  gracs A
fafare SavstaT ST &TaT &7 AT - T FfIAT &7 |araF ATy gar § T 7 At UsAT 1 arariors =7 77 gfég @
& g o g ww A gfE #7188 wvswrgas s aafyarda: var sigarfas arga & &, AT - FH gL TATAT | IITZIW A §T,
qIATIT® AT § FTIAT & @ Ariaq afearat 1 aforsgarofll FIq18 73g AT AT AT FTIATT FITH I ATEI (A4S THTT &
TATU 3 €T F 78 AAT TST ACATAT 1T ATT FEAT HT FTTALT F &1 #1 dafafy Taam §

The social sector in India is experiencing
AT ® qraThrs & rasT srgaa $T@rg ?

[Question ID = 1209][Question Description = S2_qSNz_PG_GP14_Q49]

1. Avast amount of speculative literature/sTAT{™ T[T FT T=T H=T¥ [Option ID = 4833]

2. Upward revision of budget allocations in a few specific areas/#® fafereg &= # a=idr swael T F@m=T ST [Option 1D = 4834]

3. Increased current debt account by certain states to protect their social security measures /e TSt ZT AT TSR GLEAT SUTAT T Gierd Tad % fore
T gaT =T &0 @7 [Option ID = 4835]

4. Change in composition and patterns of social welfare/THTsT 3T & FATSA A< Fi=1 H Tfead= [Option ID = 4836]

Correct Answer :-
e A vast amount of speculative literature/sTAT= aTg]a FT F=T WST¥ [Option ID = 4833]

5) Read the given passage and answer the following questions.

Despite the fact that social security programmes in India are not responses to structural adjustment but have a long history
of their own. Social expenditure in India is nevertheless particularly vulnerable to budget cuts. The social sector is a major
spending area of the government, comprising poverty reduction interventions, health, education, nutrition, social assistance
and social welfare. Most departments of government are in some way responsible for spending under this broad head.

The sector is highly divisible, thus facilitating incremental and piecemeal reductions in real expenditure. It has a weak
political constituency, dominated by technical-expert persons, which the mass of evaluative research that has historically
been critical of state interventionism has further weakened. Such work has been put to uses other than those originally
intended - not to reform the sector but as justification to abolish major components of it entirely. However, since 1991,
social sector expenditure has not declined as much as had been anticipated. Despite, or because of, its departmental
pervasiveness, it is an extremely-perhaps uncuttable-low proportion of GNP: 2.4 per cent as compared with 6.5 per cent in
Malaysia, 12.2 per cent in Botswana and 15-25 per cent in OECD countries. Even though social sector expenditure is also
flawed by spatial patchiness, conflicting time trends in expenditure levels and composition and patterns specific to each
component of welfare, cuts have been widely resisted and certain Indian states have increased their current debt in order
to protect social expenditure. There is, fortunately, and necessarily, speculative literature predicting, sometimes with
illustrations drawn from elsewhere, the likely outcomes of cuts in various types of social expenditure. But it is far too early
for these to be evidence of the actual impact on social welfare is a long-term project of several decades.

T FT I8 T T7T & IO ¢

T AT B qTI5[Q T3 AT | GrATHR0S LRAT FTEHT STATT GTANSA %1 TAfHa1g 7 afoF ITH7 orq77 wah w7 3fAgT9 G,
ATLT § ATATINE AT UL aTT | HT 19 a7oAT w1 TqqT & FAT T F I979 787 &7 GITIGATE ATATING & T GLHT AT &7
TF T &7 g Rrad v8E 9 737 @ forg geadyw, waresy, U1, TG, FHIS GEIIAAT AT AT FAT7 qfrafag g 9w
FfgrFier fAaTw Rt 7 fFdi v d o fRega s 3 aga &F o9 @ U St g § 9% a7 afy fawrsa § Sras g9
Freafa® == ® IfEa<s vd g gt am 1 giaar ora St & 99T UTH{IF TTF FAS § AT T9H aFpArHt (a9
TN AT AAGTATE AFAGTIRT TT F ST TEARTATE FT AATAAT FLA @A ATA TR A LRATHATHS 7 § T T A"
fAda FTfEaT8 Q@ AT FT A ALF1 @ TP q-F TI1 R TITET TR - T T FT AT @ g 9t afes 393 wqw

TTHT R QUATAT THTT FIA B q% 5 € TR 3 1991 @ Gra1iors @ 93 AT 7 IqAT FHY €1 o g a7 wearfira o a4t
g =TIy % IT9YT ITSTR FILA I GFA TPIT ITITE FT IET &1 STT (§TAT §, TTAT FieT 5 398 FerdT saraqa 7
g1 : 2.4 wfvay stafs aafirar & a5 6.5 wfaqq &, FITEATATH 12,2 Wiqad six ALHST I 7 15 - 25 wiwaw a=ufy ararfrs
FTILATH T TFL D TV § - SATHT ATATT, 277 D =@ & 709 - fF3rdT arafys wgiwat sxseamow s gracs A
fafers Sarsa1 ST &T=1 ST AT - TATIY HSITIAT ST ATTH (A §AT 3 AT FF AT T T(SAT F ATATIG AT F7 giora @
# g s AT | § Ffg # ] Arwreaer s qfvarda: YT sgATiE aTgd § S, FAT - FAT EL TATAT G I AA g,
qraThs =T ® Ferfadt & dwrfaqg afcurat 1 afasgarof $3a1] 00 a17 7T QAT FT AT FATT 9T ITET(AS TATT F



THT & FT H Trg AT IST TEIATSAT GIAT AT FIATH FT FTTALC FE SART F 1 i afey Trsram g

The gist of the passage is that
IETATAFTHIXEG %

[Question ID = 1210][Question Description = S2_qSNz_PG_GP14_Q50]

1. The social security system in India should be strengthened/dTd ¥ STATI FAT €T T AT T&TT F3AT AT [Option ID = 4837]

2. The social welfare system must be abandoned /& TSt FATT €T FHTH F¥ 3T =112U [Option ID = 4838]

3. In actuality, diversification funds to areas other than social welfare are justifiable/aTeaea & fAferdt &1 TaTsT Feamor 7 Ta¥ &=t § fAfFefmw sta &
[Option ID = 4839]

4. There is no evidence as to the utility of social welfare measures in India/¥Ted ® THIST FEATOT F ITTIT HT ITATRET HT FIe TATT 751 & [Option ID =
4840]

Correct Answer :-
e The social security system in India should be strengthened/<T¥a & HTHTISIE qZeAT SHawT HT TG TaTH F7AT A2 [Option ID = 4837]

Topic:- Economics_SHAAN_NOV21A

1) In case of indifference curve of two goods X and Y, as consumption of X increases:
X ST Y I FEqe & AAYATT 7% *1 RAfA &, X F7TI7907 787 F 977 ;

[Question ID = 2481][Question Description = S3_qSNz_PG_ECO_Q01]
1. MRSyy
increases/MRSxy =T &
[Option ID = 9921]
2. MRSy
decreases/MRSxy =T &
[Option ID = 9922]
3. MRSyy
remains the same/MRSxy T# HHTT ¥&dT &

[Option ID = 9923]

First MRS, increases but later on MRSy, decreases/ﬂﬂ_a MRSxy ggd ﬁ'fﬂﬁ R MRSxy
T

[Option ID = 9924]

Correct Answer :-
® MRSy
increases/MRSxy =T &

[Option ID = 9921]

2) General Economic Equilibrium is NOT related to which one of the following problems?

qraTeg A s dqaq fafafeaq # @ fragaeard dafeaadig

[Question ID = 2482][Question Description = S3_qSNz_PG_ECO_QO02]
. Uniqueness problem/Tserdr g9+=4T [Option ID = 9925]

. Existence problem/=f¥ae T==aT [Option ID = 9926]

. Stability problem/f&raT s==T [Option ID = 9927]

. Moral Hazard problem/=fa =7 & @a<=Ts T9=aT [Option ID = 9928]

A wWN =

Correct Answer :-
e Uniqueness problem/TsedT @9=T [Option ID = 9925]

3) In the short-run production function, which one of the following is CORRECT?

Ferfafer searea woq &, fAufafas & @ Faradr g ?

[Question ID = 2483][Question Description = S3_qSNz_PG_ECO_QO03]

1. Technology is assumed to change as labour input changes/=THANTd & THad" & AT ARG T T FeqaT 7 J7dT 2 [Option ID = 9929]

2. Technology is assumed to change as capital stock changes/dsft =i & Tfvad & @ STafahr afade $7 et £t STt & [Option ID = 9930]

3. Technology is assumed to change positively until diminishing returns set in/gTATT AT A I TH TR F THRTHSF TRATT T FHoddT 6
ST 2 [Option ID = 9931]

4. Technology is assumed to be constant for a given production function relationship/saw IcaTad wae Haer & forw sty e g & Feaar 67 st
[Option ID = 9932]




Correct Answer :-
e Technology is assumed to change as labour input changes/= 3T H Tad= & AT STl THads T Feaar T STt g [Option ID = 9929]

4) As output expands, LAC curve falls. This is due to:

fafa & frea1ed a1a, g g T a®m ® g sndt g SHRTHRUG ¢

[Question ID = 2484][Question Description = S3_qSNz_PG_ECO_QO04]
1. Law of variable proportions/aftadt srqura fAae

[Option ID = 9933]
2. Law of diminishing returns/grasm wfawer ffae
[Option ID = 9934]
3. Economies of scale/TRHATT Ta® TATH (THIFIHFE AT Fhe)

[Option ID = 9935]
4. Diseconomies of scale/TfR#Tm g g1fa (RA-zHAITHFT T we)

[Option ID = 9936]

Correct Answer :-
® Law of variable proportions/wfadt srqara faw
[Option ID = 9933]
5) In a situation of decision under uncertainty, if a consumer faces equal expected income from two alternatives, then s/he
will take decision on the basis of

Ffafaaar # smia ot a7 #1 Rafy &, I STNFT F1 7 FAFI7 § TF AT Oy AT TATATSIGN 5, A1 98 Aufaiga# &
g sraTT g7 fAvfg Fam ?

[Question ID = 2485][Question Description = S3_qSNz_PG_ECO_QO05]

. Expected utility of both the alternatives/ZI=t farent T TeaTfora SaaTar [Option ID = 9937]

. Probability of risk attached with each alternative/scd= farseT & AT Hag Sirfew 1 Ffarar [Option ID = 9938]
. Variation of risk attached with each alternative/Scie fashe & AT Fag ST 3= [Option ID = 9939]

. Mean of risk of each alternative /e o= & STrta =T #TeT [Option ID = 9940]

A w N =

Correct Answer :-

e Expected utility of both the alternatives/a =t fasedt #T yearfora SwaTiET [Option ID = 9937]

6) What type of relationship the Phillips curve postulates between the rate of unemployment and the rate of increase of
money wages?

fpfereg aF F FEaR AT g A ieTw aagd § gtz e g fra g Fradgg ?

[Question ID = 2486][Question Description = S3_qSNz_PG_ECO_QO06]
1. Inverse/fa=ma [Option ID = 9941]

2. Direct/9<er [Option ID = 9942]

3. Direct and proportional/¥e&1 @@ FHTUTAT [Option ID = 9943]

4. Inverse and proportional/ {3 s T AT [Option ID = 9944]

Correct Answer :-
e Inverse/Sfa<rd [Option ID = 9941]

7) The concept of 'money illusion’ was first given by whom?

THEF 97 Y GFeqar g a4y fraa S 97 ?

[Question ID = 2487][Question Description = S3_qSNz_PG_ECO_Q07]
1. Milton Friedman/fee sfi=f= [Option ID = 9945]

2. Irving Fisher /33 fikere [Option ID = 9946]

3. Robertson/TrarEa+ [Option ID = 9947]

4. J. M. Keynes/sr.tq. 1= [Option ID = 9948]

Correct Answer :-
e Milton Friedman/ffees sfiz@= [Option ID = 9945]

8) Which one of the following correctly describes the concept of ‘Super Multiplier'?

fafafeg 9 @ 'afaqgus #1 dHe7ar 7 00T F1T FETE ?

[Question ID = 2488][Question Description = S3_qSNz_PG_ECO_QO08]
1. Investment multiplier/faer 7o [Option ID = 9949]



2. Money multiplier/=fs= o [Option ID = 9950]
3. Interaction between multiplier and accelerator/3[" 3 @<= % == 3fa: fFaT [Option ID = 9951]
4. Employment multiplier/ZISNTTe 3o [Option ID = 9952]

Correct Answer :-
e Investment multiplier/f=rer 7o [Option ID = 9949]

1=50+02Y
S=-150+04Y
G =50
Where | = Investment, 5 = Savings
G = Government Expenditure
¥ = National Income

What is the equilibrium level of national income?

Ha:

1=50+0.2Y
S=—150 + 0.4Y

G=50

EP

| = 9= : s = §gd

G = WoHRI g

Y = fPF E

TPY 341 BT HIoH TR A7 ?

[Question ID = 2489][Question Description = S3_qSNz_PG_ECO_QO09]
1. 2500/2500 [Option ID = 9953]

2. 1250/1250 [Option ID = 9954]

3. 250/250 [Option ID = 9955]

4. 1500/1500 [Option ID = 9956]

Correct Answer :-
e 2500/2500 [Option ID = 9953]

10) The independence of real variables from changes in money supply and nominal variables is called :
AT g sz arfHrs 43 / afada @ areafas a0 #1 sad7ar w1 fawfafaa & /@ sarwgraarg ?

[Question ID = 2490][Question Description = S3_qSNz_PG_EC0_Q10]

1. Keynesian dichotomy/F=aaral fgwmere [Option ID = 9957]
2. Classical dichotomy/#TfEriar f«rsi= [Option ID = 9958]
3. Money illusion/%Tfse 9w [Option ID = 9959]

4. Money multiplier/#Tfae o [Option ID = 9960]

Correct Answer :-
e Keynesian dichotomy/F=a=T<t {3 [Option ID = 9957]

11) Assuming the probability of a male birth as 0.5, find the chances that a family of 3 children will have two boys and one
girl

I =T HT G ATIATHT 0.5 ATT F, T FATIAT HT I4QT TATC 3% 3 g7 7 7X@ & 7 A19% 7 0 SO0 v
[Question ID = 2491][Question Description = S3_qSNz_PG_ECO_Q11]
.11

i 0O



L &

[Option ID = 9961]
2. 22

g8

[Option ID = 9962]

88

[Option ID = 9963]
4 43

88

[Option ID = 9964]
Correct Answer :-
.11

88

[Option ID = 9961]

12) Which one of the following measures of central tendency will be the most appropriate to use if the data relates to
rates, proportions and ratios?

fy e T, FATIITT T AT § G § a7 3707 T 3 FYT F ATTF KT T FIA7 G4f 1¥% ITLH 17 ?

[Question ID = 2492][Question Description = S3_qSNz_PG_EC0_Q12]
Arithmetic Mean /si=Tfortir |12 [Option ID = 9965]

Median/@Tfea=T [Option ID = 9966]

Harmonic Mean/gZTcH# ATeT [Option ID = 9967]

. Geometric Mean/SaTHdT |17 [Option ID = 9968]

AW N -

Correct Answer :-

e Arithmetic Mean /3ot |Ter [Option ID = 9965]

13) The sampling distribution of mean based on a sample of 13 units selected without replacement shows a variance of 5
units. If the population consists of 49 units, estimate the variance of the population

sfaearys & faar gafag 13 goreat 3 us e o< aryriea wfowaw frawo w1 9187 5 g0t & 71 fravw ggfar g afy
FAHEIT ’ 49 THTAT g, AT I8 @47 & f4Fs &1 srawars 10y ¢

[Question ID = 2493][Question Description = S3_qSNz_PG_ECO0_Q13]

1. 80.67/80.67 [Option ID = 9969]
2. 84.87/84.87 [Option ID = 9970]
3. 86.67/86.67 [Option ID = 9971]
4. 86.87/86.87 [Option ID = 9972]

Correct Answer :-
e 80.67/80.67 [Option ID = 9969]

14) In the classical linear regression model, X; and U; are assumed to be:

FATTAHRTT IETT AATIIAAISTA X T Uy R T A Feqar ST AT g fo a ¢
[Question ID = 2494][Question Description = S3_qSNz_PG_ECO_Q14]

highly correlated/sreafers @gwag g [Option ID = 9973]

not correlated/sg#=Z =1 g [Option ID = 9974]

positively correlated/HaTeTeH® &7 & Hgwaa & [Option ID = 9975]
negatively correlated/TTaTcA= =7 ¥ HgHa5 ¢ [Option ID = 9976]

A W N -

Correct Answer :-
e highly correlated/s=Ifer Tgw=r3 & [Option ID = 9973]

15) Identify which one of the following statements is INCORRECT?

frafafaa # 9 97 Fa7 A1 78979 FA™W@

[Question ID = 2495][Question Description = S3_qSNz_PG_ECO_Q15]
1. Intersection of two disjoint sets is a null set/aT EI< THFAT FT THIFEFA ¥ T94g7T & [Option ID = 9977]
2. Complement of a Universal set is a null set/S® ST TgT T T2 &< a9g7 g [Option ID = 9978]

3. IfXﬁYz-:p.rhen)(--Y#X/qﬁ'XﬁY =¢Eﬁ X—-Y#X

[Option ID = 9979]
4 X-Y=Xn¥/X—-Y=XnY



[Option ID = 9980]

Correct Answer :-
e Intersection of two disjoint sets is a null set/=T STEI<H THFAT FT TA[FEA (<6 TFT g [Option ID = 9977]

16) Given y = X3 — 12%2 + 36X + 8, identify which one of the following is CORRECT:

Uad y = X3— 122+ 36X + 8,

fFrafeiRad o @ 981 B Ug=H $ife -

[Question ID = 2496][Question Description = S3_qSNz_PG_ECO_Q16]
1. yis maximum at X = 6, and minimum at x = 2/X = ¢ TR Y AAGIT G AR x= 2 WY :Qﬁﬂﬁ%

[Option ID = 9981]
2. yis minimum at X = g, and maximum at X = 2/X = 5‘51?‘?:%31:[%'31:1? K= WYW%

[Option ID = 9982]
3. y has two inflexion pointsatx=2andx=6/Y P x=2 G'TT{)(: ﬁmaﬁﬂﬁrwﬁaﬁaﬁgﬁ’

[Option ID = 9983]
4. Point of optimality is indeterminate/z=a+ fag =rff=ra & [Option ID = 9984]

Correct Answer :-

® v is maximum at ¥ = ¢, and minimum atx:zf)(:ﬁfﬂ\fﬁr@ﬁﬁ%’aﬁ? X:zﬂ?\’:‘lﬁﬂﬁ%

[Option ID = 9981]

17) ldentify which one of the following statements is CORRECT:

afafReg 9 @ a8t w97 #7 ggam Fifvg .

[Question ID = 2497][Question Description = S3_qSNz_PG_ECO_Q17]

1. A'lis equal to Adj (A) if the value of the determinant A is unity/A" Adj (A) % T9T9 & e faivs A #7 gog warteafa (FET) T [Option ID = 9985]

2. If two columns of a determinant are interchanged, the sign of the determinant does not alter/=f% U= fFuie® & a1 FiAT T TEq Tfegfad #7 &Zar
STaT 7, feies =71 foeg 78 agrar g [Option ID = 9986]

3. The value of a determinant changes if the rows and columns are interchanged/af% WfxFat siiv Ffert #1 qeeaw afvafdd % & srar g 91 Fafes #1970
& STaT & [Option ID = 9987]

4. Law of division is allowed in matrix operations/&fea s=mer & farsrei & £ srafy & [Option ID = 9988]

Correct Answer :-
e Ais equal to Adj (A) if the value of the determinant A is unity/A™" Adj (A) & &am & =f Frerfeh A %7 qog wwifeata (zfET) & [Option ID = 9985]

18)
Identify which of the following statements with respect to Linear Programming Problem (LPP) is CORRECT:

W Truaras aaeaT (ga 1t ) 3 gag 7 fafafag 7 @ a@ a7 7 og== v

[Question ID = 2498][Question Description = S3_qSNz_PG_ECO_Q18]

1. A solution is unbounded in an LPP if all the feasible solutions of the problem fall within the boundary created by its constraints/= % TaeT & TeT
AT AT TET ATeaqTar g7 T HATeH & Fiqe g §, a7 g O O & qureny a5 g [Option ID = 9989]

2. If Ais a primal problem and B is its dual, then dual of B is not A/=f% A T =nf% @aqeaT & T B 3H#T g7 &, AT B FT T AFEl & [Option ID = 9990]

3. The constraints of an LPP in standard form is always expressed in less than and equal to form/®Tae =7 § Ter W O #T aTeaaqTd ZHAT 7 ST/ 3727
THTT & = § AfSr=7<h grar & [Option ID = 9991]

4. If an LPP has two optimum solutions, then it has also infinite number of optimum solutions/=f% f&=T wer @t ¥t % 2T T2 FATL § 97 =6+ AfAaq dear
¥ Taw T S § [Option 1D = 9992]

Correct Answer :-
e A solution is unbounded in an LPP if all the feasible solutions of the problem fall within the boundary created by its constraints/=fs THeaT & THeT
AT THTE THAT qTeAaTsH greT Toa S & $ia g §, 97 ver O ff & s9rens sarag € [Option ID = 9989]

19) The Net Barter terms of trade refer to:

AT Y g T+ fafaaa gz aqardt g -
[Question ID = 2499][Question Description = S3_qSNz_PG_EC0_Q19]

. The excess of import expenditures over export earnings/fR=Td IUTSIAT 9% ATATT =441 FT AT [Option ID = 9993]

. Trade agreements/=ITaT¥ FHEATT [Option ID = 9994]

. The ratio between export prices and import prices/fafd FHaT 3fiv swaTa Frwat & == F7 AaTa [Option ID = 9995]

. The terms and conditions on which a country is offered a loan in the event of balance of payments difficulties/fAae s oIt S/ 9% U= 9T &1 qIraTT
T HT FisArTeat it fRafq & o 37 F7 w=ara B w7 § [Option 1D = 9996]

A w N =



Correct Answer :-

e The excess of import expenditures over export earnings/f=Ta SUTSIHT 9% 3TATT =741 &7 3IAEFT [Option ID = 9993]

20) The items on the capital account of Balance of Payments are:

ST GEAT R gl @ra #1772 § ¢

[Question ID = 2500][Question Description = S3_qSNz_PG_ECO_Q20]
Flow variables/waTg =< [Option ID = 9997]

Stock variables/¥={® =¥ [Option ID = 9998]

Changes in stock magnitudes/¥=f= TR®TT & Fa=Ta [Option ID = 9999]

Both Stock and Flow variables/Z =t ¥ 3T yaTg =< [Option ID = 10000]

A W N -

Correct Answer :-
e Flow variables/waTg =¥ [Option ID = 9997]

21) A sudden shift from import tariffs to free trade may induce short-term unemployment in:

JMITT TLTF & TF ATITT HT T AATAE AAT ALFTIAF QAT F1 67 A Ifxg sTaswarg
[Question ID = 2501][Question Description = S3_qSNz_PG_ECO_Q21]

Import competing industries/sraTa-sfaeTef =Tt [Option ID = 10001]

Industries that are only exporters/3¥ I=T & ST Fa<T fAaids & [Option ID = 10002]

Industries that sell domestically as well as export/3d S=IRT & ST sl T¥a &Y ST aTg] F¥q¢ 9 &7 w7 € [Option ID = 10003]
Industries that neither import or export/3® ST | ST 7 dT 2T 3% 7 g f4=ria #2a & [Option ID = 10004]

A W N -

Correct Answer :-
e Import competing industries/3rTa-Sfa=Tef =Tt [Option ID = 10001]

22) The optimum tariff means:
TEAH TLEh _THTAT % :

[Question ID = 2502][Question Description = S3_qSNz_PG_ECO0_Q22]
1. Must occur in the elastic range of the tariff imposing home country's offer curve/S[e® @RI AT HT ST & TEATT A I ATAETE HHT & AT & ST g
[Option ID = 10005]
2. Takes account of the probability that the partner country will retaliate with protective measures of its own /@R ¥ AT 39T TH HATAAT T LT
7T o ARfETT 39T ST T & HeAr wraet & | Widw #9m [Option 1D = 10006]
3. Maximises total export sales of the imposing country/@R[ &7+ aTer 39T & &qur A=t bt 1 srfaerrfas F¥ar & [Option ID = 10007]
4. Must occur in the elastic range of the partner country's offer curve/sETT 39T & YEqTT 9% Tl @=a1< S@T & Sae 21§ [Option ID = 10008]

Correct Answer :-

e Must occur in the elastic range of the tariff imposing home country's offer curve/S<[e @Y ATl B I9T & TEATE a7 6T ATAGIL HIHT & HIq< g1 2T g
[Option ID = 10005]

23) The movement from old level of expenditure and taxation to a new and higher level is called:

T ATHULTT & [UF €T H AT AT SFIC AT HT AL F AT KT FAT FTATAT S ?
[Question ID = 2503][Question Description = S3_qSNz_PG_ECO_Q23]

. Concentration effect/® = I9Ta [Option ID = 10009]
. Inspection effect/f<teror = [Option ID = 10010]

. Displacement effect/fa®=ma=r woTar [Option ID = 10011]
. All of the above/37d & & @+ff [Option ID = 10012]

A W N -

Correct Answer :-
e Concentration effect/& =T w91 [Option ID = 10009]

24) Which method can help in obtaining a welfare improvement, if externalities exist?

gfy argard sifRges 7 gt g, a1 fafeafag /@ sra-at &4ty searmor gae St oy & ggrasgrasa € 2

[Question ID = 2504][Question Description = S3_qSNz_PG_ECO_Q24]

. Pigovian taxes/favTfea= %% [Option ID = 10013]

. Regulation/fafs=w= [Option ID = 10014]

. Assigning property rights and permitting bargaining/&vI=T SIf&IsT¥ YaT FTAT ST HI-ATF FT STAATT 34T [Option ID = 10015]
. All of the above/3IT4 & & ¥ [Option ID = 10016]

A W N -

Correct Answer :-

e Pigovian taxes/fiTIfara= &% [Option ID = 10013]

25) The efficiency condition in the production of pure public good requires that the production be carried out up to a point
when:



{where MB; represents Marginal Benefit of the 'it"" individual and MB;j represents Marginal Benefits that accrue to the 'jt"
individual and MC is the marginal cost}

frqg arastas aegq @ Scareq # q@ar Rafy 3 forw a5 s fyg @ ¥ Starea sg farg aw 9rd w@r STy 9T

gt MBi , (i) =T & HiaTa a1 F 1 Iqar g , AT MBj AT AT ST (j) =36 a &~ grat g 71 zafar g, st MC Hi=ia
ATAT 8

[Question ID = 2505][Question Description = S3_qSNz_PG_ECO_Q25]

n=1 n-1
- MBi+ ) MB, =r»1r:ffw.la:-+ZMHj = MC
j=1 =1
[Option ID = 10017]
n-1 n—1
2. MB;;‘FEME;‘ > MC }JMH["' MHJ > MC
i=1 J=1

[Option ID = 10018]
n-—1

n-1
MB,+ ) MB, < MC/MB; + Z MB, < MC
=

ey
1=1
3. n-1

MB; — Z MB; > MC
i=1
[Option ID = 10019]
n—1
MB; — Z MB; > MC
j=1

n—1
/MB; — MB; > MC
j=1

[Option ID = 10020]

Correct Answer :-
n=1 n-1

* MB + Z MB; = MC/MB; + Z MB; = MC
=1 =1
[Option ID = 10017]

26) The incidence of which of the following will entirely be on the monopolist?

faafafea 9 @ &17 w1 gafararars 9 g avg smafaq g :

[Question ID = 2506][Question Description = S3_qSNz_PG_ECO_Q26]
1. Lump-sum tax/U#qd ¥ [Option ID = 10021]

2. Specific tax/faforg < [Option ID = 10022]

3. Regulated monopoly pricing/fafa=fira =i gea= [Option ID = 10023]

4. None of these/z=# & #T< gl [Option ID = 10024]

Correct Answer :-
® Lump-sum tax/TFHYT F [Option ID = 10021]

27) Which of the following is NOT a Commercial Bank?

fefafaa d @ srr s arorisas dF5 9818 ?

[Question ID = 2507][Question Description = S3_qSNz_PG_ECO_Q27]
1. Public Sector Bank/fTas &= & [Option ID = 10025]

2. Private Sector Bank/fsft &= & [Option ID = 10026]

3. Regional Rural Bank/&=t=r 3mfior & [Option ID = 10027]

4. Co-operative Bank/@g=T<r &% [Option ID = 10028]

Correct Answer :-
e Public Sector Bank/@Tast{= &= &% [Option ID = 10025]

28) Liquidity Adjustment Facility (LAF) was recommended by

FIAAT FHATATIT YT (TF T wh) #1 fRrwrfeer s 71 .



[Question ID = 2508][Question Description = S3_qSNz_PG_ECO_Q28]
1. C. Rangarajan Committee /T “arzrer= affa [Option ID = 10029]

2. Raghuram Rajan Committee/T=¥T® 715 &fafd [Option ID = 10030]

3. Narasimham Committee - |l/7=f&z® @1f# T 1l [Option ID = 10031]

4. Bimal Jalan Committee/fawer STe &rf&fa [Option ID = 10032]

Correct Answer :-
e (. Rangarajan Committee/t Firersi A& [Option ID = 10029]

29) Which of the following is TRUE for Bank Rate?

FHzrd IR | Mefafasd staadig ?

[Question ID = 2509][Question Description = S3_qSNz_PG_ECO0_Q29]

1. Increase in Bank rate by Central Bank would increase money supply keeping other factors constant/#=a &% 2% # 3 Ta¥ F13a1 & oo vad gu amgfd
T g7 =37 [Option ID = 10033]

2. Bank rate is a qualitative instrument/&% 3% T# J[UITcH® IT%20T (3¥gHe) @ [Option ID = 10034]

3. Bank rate is the minimum rate at which the Central Bank provides credit to financial institutions against securities of the government/d% 3% ag
aH 77 g S o adT % avwn wfagfa & awor fAf st #°1 %o 77w #7902 [Option 1D = 10035]

4. Bank rate is a direct instrument of credit control/d=F =% @T@ fA==(01 T TF To7eT ITFLT ¢ [Option ID = 10036]

Correct Answer :-

o Increase in Bank rate by Central Bank would increase money supply keeping other factors constant/##1a &% 2% # gfa gav Fea! &1 &% T@q gu arfa
T g7 =77 [Option ID = 10033]

30) Human Development Index (HDI) currently, as published by the UNDP is calculated by using which of the following?

Z wA T T gT IHIIAT ATAT FAw79 gawis (T T arg) #7 a<twra & frufafas # @ frosd srnwgrrawa #r9rdr @ ?

[Questlon ID = 2510][Question Description = S3_qSNz_PG_ECO_Q30]
Geometric Mean /ST ATex [Option ID = 10037]

Arithmetic Mean/si=Tfure 1= |77 [Option ID = 10038]

Harmonic Mean/gZTcHe ATed [Option ID = 10039]

Quadratic Mean/ =T AT [Option ID = 10040]

AWN—\

Correct Answer :-
e Geometric Mean/saTfrt= |1 [Option ID = 10037]

31) Harrod-neutral technical progress is necessarily:

g0 Aty awAra fasra sfvardar
[Question ID = 2511][Question Description = S3_qSNz_PG_ECO_Q31]

Growth augmenting/®gf =& g [Option ID = 10041]
Labour augmenting/=T9 H=¢% g [Option ID = 10042]
Capital augmenting /ISt a4 & [Option ID = 10043]
Resource augmenting/dHT4s H=¢= & [Option ID = 10044]

A WN -

Correct Answer :-
e Growth augmenting/®gfi =& g [Option ID = 10041]

32) Which among the following is NOT part of the neoclassical theory of growth?

frafafea 9 @ ST a3 @ 99- Farfrfg RgigsTammadi g ?

[Question ID = 2512][Question Description = S3_qSNz_PG_ECO0_Q32]
1. Swan Model/¥aT¥ At=w [Option ID = 10045]

2. Meade's Model/#1= == [Option ID = 10046]

3. Pasinetti Model/&ffgT #iz=r [Option ID = 10047]

4. Solow Model/#TaT #iee [Option ID = 10048]

Correct Answer :-
e Swan Model/®aTa #iger [Option ID = 10045]

33) If a production function admits both Harrod and Hicks neutral technical progress, the elasticity of substitution should be

7y F1E ST w7 4T q FEFa Meder awtaat wwfa 91 era1< 397 § 7 eqraraty «ra fatatya g arfye .

[Question ID = 2513][Question Description = S3_qSNz_PG_ECO_Q33]
equal to one/T & THTT [Option ID = 10049]

equal to zero/<[= & HHTT [Option ID = 10050]

equal to infinity/3r=d & 9T [Option ID = 10051]

equal to one divided by two/T# =T a1 & FHT= [Option ID = 10052]

AW N =



Correct Answer :-

e equal to one/T# & FHTT [Option ID = 10049]

34) The total population of city X' in 2011 was 28 lakhs and the total number of live births was 50 thousand. Find out
crude birth rate per 1000 population

2011 &/ ET X FT G TAG AT 28 AT AT AT H{A SAtfara FALA 7 F&AT 50 TATL AT TAT AT ATH AT I FLN AT T#AI
TqT ATEY ?

[Question ID = 2514][Question Description = S3_qSNz_PG_ECO_Q34]
1. 178.57/178.57 [Option ID = 10053]

2. 1.7857/1.7857 [Option ID = 10054]

3. 17.857/17.857 [Option ID = 10055]

4. 0.17857/0.17857 [Option ID = 10056]

Correct Answer :-
e 178.57/178.57 [Option ID = 10053]

35) According to Ronald Coase, which of the following statements is CORRECT for pollution control?

QATeE FIST & FTAT 70 g o G Frmforfas w9t & 7 adt &2
[Question ID = 2515][Question Description = S3_qSNz_PG_ECO_Q35]

Providing property rights to the state/¥Ts% T |ufx & S(fa=H1¢ Y= F7AT [Option ID = 10057]

Providing property rights to the legal institutions/fafer et 7 §uf=r & srfaere w1 #%=7 [Option ID = 10058]
Providing property rights to polluters and pollutees/Sgu 3ii¥ TEiUa T HURY & Af&FT TaT= FTAT [Option ID = 10059]
Providing property rights to Trade Unions/=/& &=t &7 §9=T & If&=RT¥ &1 #¥A1 [Option ID = 10060]

A W N -

Correct Answer :-
e Providing property rights to the state/¥Tsa &1 Sqfxr & sffersTe TaT= F¢aT [Option ID = 10057]

36) According to Census 2011, which one of the following states has the highest share of rural population?

¥ 2011 | ST & srga faufafaa & @ 7 asat § qrato spard Fraaffas g ?

[Question ID = 2516][Question Description = S3_qSNz_PG_ECO_Q36]
1. Bihar/fagm [Option ID = 10061]

2. Odisha/#ifzer [Option ID = 10062]

3. Uttar Pradesh/3<¥ w=9r [Option ID = 10063]

4. Himachal Pradesh/f@@m==r wgor [Option ID = 10064]

Correct Answer :-

e Bihar/fag™ [Option ID = 10061]

37) At present, for the estimation of GDP in India at constant prices, which one of the following years is used as the base
year?

FARTT R TG A ST ST I F Ry Fraat g avwaa # forg Fa fFefrfas af w7 srgread # =0 q g3 frarsrarg ?

[Question ID = 2517][Question Description = S3_qSNz_PG_ECO_Q37]
2011-12/2011-12 [Option ID = 10065]
2010-11/2010-11 [Option ID = 10066]
2014-15/2014-15 [Option ID = 10067]
2000-01/2000-01 [Option ID = 10068]

A WN =

Correct Answer :-

® 2011-12/2011-12 [Option ID = 10065]

38) Which of the following statement is CORRECT for 'Atmanirbhar Bharat Rozgar Yojana' launched on November 12,
20207

12 99T 2020 FT AT FT T 'FATAHT AT AAT NFAT F G A el & @ sraqarsa7 9t g ?

[Question ID = 2518][Question Description = S3_qSNz_PG_ECO_Q38]

1. Establishments which make new hires will get a subsidy to cover retirement fund contribution by employees and employers for 2 years/™ T ST
giora we ater afrgmt a1 Far Ay @fE # faret 7 wi=tEt & o & 7 § <7 a9 a5 o ggrar @enft [Option ID = 10069]

2. Establishment will get a subsidy of Rs.10 crore for a period of 5 years/SfagT 1 5 a9 & srafer & forw 10 g w0 §iT o7 @graar fHerfl [Option ID =
10070]

3. Establishment will get tax profit continously for a period of 3 years/YTAgT T @A §17 F6T & forT T ¥ =17 f¥eww [Option ID = 10071]

4. Establishment will get tax subsidy for 5 years. /SIS T 5 901 9% F< U7 AT (¥Rl [Option ID = 10072]

Correct Answer :-



e FEstablishments which make new hires will get a subsidy to cover retirement fund contribution by employees and employers for 2 years/dT TSRIT

giora Fa arer wfasTt #1 a7 gty @ § st 7 #H=tat & stear £ 92 § 27 a9 3% 77 Fgraar f#enft [Option 1D = 10069]

39) The 15t" Finance Commission ( FC ) has recommended that the States be given what per cent of the divisible tax pool
of the Centre during the period 2021-2022 to 2025-26?

15 9 F3rT T (T §7) F AqAaT 7 8 96 2021-22 § 2025-26 #1 AT & SITT (AT FT d7g & (AATST I A T
vfaead frarsrg

[Question ID = 2519][Question Description = S3_qSNz_PG_ECO_Q39]
1. 51/51 [Option ID = 10073]
2. 31/31 [Option ID = 10074]
3. 41/41 [Option ID = 10075]
4. 61/61 [Option ID = 10076]

Correct Answer :-
e 51/51 [Option ID = 10073]

40) Which of the following sectors of the economy registered highest growth rate in the second quarter of 2020-21 as per
estimate of NSO?

gdagedT & fAafafaa @ & T @37 7 af 2020-21 F1 g Rardi 7 gargaaf@ st g8 g aifead sraftaz &
AHST B FLAT :

[Question ID = 2520][Question Description = S3_qSNz_PG_ECO_Q40]

1. Manufacturing/ff=wTo [Option ID = 10077]

2. Electricity, Gas, Water supply and other Utility services/fa=q, & sarsmqfd @ st o=t F4rd [Option ID = 10078]
3. Agriculture and Allied sectors/%f 7 &= &= [Option ID = 10079]

4. General Administration/dmHT= F9md= [Option ID = 10080]

Correct Answer :-
e Manufacturing/fafs=for [Option ID = 10077]

41) Which of the following measures are used by a risk-averse person to minimize risk?
A. Diversification of resources

B. Insurance of risk event

C. Total cost of resources

D. Value of information of risk event

Choose the correct answer from the options given below:

fEw & 97 ata FF g1 NIgA F7gAaw F@ 3 g affgr A asta-asoaFa s g
A. FETHTT FT afaegwETw

B. STIfEw weAT &t d14T

C. GHTHHT FT FA ATIT

D. Sf&® w7 Y ATTHTL FT =T

= fro e faseat 7 @ gt ITTHT 7T MRAT ¢

[Question ID = 2521][Question Description = S3_qSNz_PG_ECO_Q41]

A, B and C only/#a A, B iz C [Option ID = 10081]
A, B and D only/#=<T A, B i D [Option ID = 10082]
B, C and D only/#a= B, C f= D [Option ID = 10083]
A, C and D only/#a= A, C 3T D [Option ID = 10084]

A W N -

Correct Answer :-
e A, Band Conly/#a A, B 3T C [Option ID = 10081]

42) Which of the following statements are CORRECT for welfare economics?
A. Any competitive equilibrium leads to a Pareto efficient allocation of resources
B. Competitive equilibrium does not lead to Pareto efficient allocation of resources

C. Any efficient allocation can be attained by a competitive equilibrium given the market mechanism leading to
redistribution

D. There will be no Pareto efficient allocation of resources in the society



Choose the correct answer from the options given below:

fafafRea 8 & #19 - | F97 FeaT0 Afarer 3 T a3 ?

A. TRET g0t G & Fa1aTE FTIRE - TH AF ST AT §

B. ITYasft 7T & FATYAT F7T IR - TF AT 72T 31T &

C. FTIATT AT & FAfFaTor T & wwa WAy 4qA7T & FIE T AT ITH ZT AFAT &
D. GATH ® THTHT FT HIE IRAT - T G ST 7T §IAT

= fro e faseat 7 @ gt INTHT 7T MR;AT ¢

[Question ID = 2522][Question Description = S3_qSNz_PG_ECO_Q42]

1. A, B and C only/#a= A, B %% C [Option ID = 10085]
2. Aand C only/#a= A % C [Option ID = 10086]
3. Band C only/#ae B i C [Option ID = 10087]
4. Cand D only/#a= C 3w D [Option ID = 10088]

Correct Answer :-
e A, Band Conly/#a A, B 3fiT C [Option ID = 10085]

43) Which of the following conditions hold true for factor pricing when factor market is perfectly competitive and product
market is monopolistic?

A. VMP > MRP

B. Both VMP and MRP decreasing
C. VMP < MRP

D. MRP_. = W

Choose the correct answer from the options given below:

frafafaa 7 8 st 97 Rafaat sarema Ara7 gt # o ag § afs sarem ars guiaar siresdT @ st sars aramr
uaTiawTis § ?

A. VMP > MRP

B. VMP ST MRP AT & H T B &

C. VMP < MRP

D.MRP_ =W

=2 YT g fawedi & @ 987 ST FTII9 HI{9Q ¢

[Question ID = 2523][Question Description = S3_qSNz_PG_ECO_Q43]

. A, Band Conly/#=<T A, B ¥ C [Option ID = 10089]
. B, Cand D only/#== B, C ¥ D [Option ID = 10090]
. A, Band D only/3= A, B siw D [Option ID = 10091]
. A, Cand D only/#a= A, C 3T D [Option ID = 10092]

A W N -

Correct Answer :-
e A, Band C only/#a A, B 3T C [Option ID = 10089]

44) Which of the following functions will result in an investment multiplier of value 4?
A.C=50+.25Y

B.C=50+.75Y

C.S=-50+.25Y

D.1=50+.75Y

Choose the correct answer from the options given below:

rafafReg waat & frasT afvomm o Yo7 3 a0 qus T, SEsrarm4 g
A.C=50+.25Y

B. C=50+.75Y

C.S=-50+.25Y

D.1=50+.75Y

Fr= feg g fawedi & & 987 STTHT 77 FfQ



[Question ID = 2524][Question Description = S3_qSNz_PG_ECO_Q44]

A and C only/#=< A 3T C [Option ID = 10093]
C and D only/#=< C 3 D [Option ID = 10094]
A and D only/#a< A T D [Option ID = 10095]
B and C only/#a= B 3fi= C [Option ID = 10096]

A WN -

Correct Answer :-
e Aand C only/#a= A ¥ C [Option ID = 10093]

45) Which of the following are CORRECT?

A. If observations are selected purposively, it is called a method of non-random sampling

B. If observations are selected in an ad-hoc manner, it is called a method of non-random sampling

C. If observations are selected in a systematic manner it is called a method of non-random sampling

D. If observations are selected on the basis of judgment, it is called a method of non-random sampling

Choose the correct answer from the options given below:

Mefafaa & 4 FITsgT9gTe ?

A, TG FTIIT AT LT 7, AT 39 AL AT 0% afa=waa & fafy sgramarg

B. If¥ S&1oit #7977 a<d €T/ FATFA1a7 ], 77 39 {T - argfas sfogas #1 fFfy sgramarg

C. TfX FHUT FT FIT LATRAT €T 4 FFITIATIATE, T 39 AT Irg s wiy=za #1 FAfr sgrararg

D. If¥ Fgwt w71 977 fvfw & srare g AT oIraT 8, 97 39 AT - argfEs yhoagw 1 Aty sgramar g
Fr= fyT g fawedi & § 987 ST FT 97 FI{Q :

[Question ID = 2525][Question Description = S3_qSNz_PG_ECO_Q45]

A, B and C only/#a A, B i C [Option ID = 10097]
B, C and D only/#a B, C T D [Option ID = 10098]
A, C and D only/#a A, C & D [Option ID = 10099]
A, B and D only/#=T A, B =i D [Option ID = 10100]

A W N -

Correct Answer :-
e A, Band C only/#a< A, B 3T C [Option ID = 10097]

46) Which are the following correct features of matrices?
A. An identity matrix is a square matrix
B. An identity matrix when gets transposed remains an identity matrix
C. (A.B)T = AT.BT where A and B are matrices
D. (A1) = (AT)~* where A is a matrix

Choose the correct answer from the options given below:

frofeiad o 4 3ice & 9l s a1 8 ?

A. U dIGIed A U 31 ARt B

B. U%h dGTed e U&= 814 W dreled Afes 81 war gl
C. (A.B)T = AT.BT 5181 A 3R B AT B

D. (o™Y)T = (AT)"* Tl A U@ AT &

i< feu e fasedl © U U8l IR & 90 DL ;

[Question ID = 2526][Question Description = S3_qSNz_PG_ECO_Q46]
A and B only/#a< A =T B [Option ID = 10101]
B and C only/#=< B 3fT C [Option ID = 10102]
A and C only/#a< A 3T C [Option ID = 10103]
C and D only/#a= C 3T D [Option ID = 10104]

A W N -

Correct Answer :-
e Aand B only/#a< A 3T B [Option ID = 10101]



47) When the exchange rate changes from 1$ = Rs. 72 to 1$ = Rs. 68, then the:
A. Rupee has depreciated
B. Dollar has depreciated
C. Rupee has appreciated
D. Dollar has appreciated

Choose the correct answer from the options given below:

g fafaaasrs 1 @EY) = 5. 72 19T =%. 68 ¥ uRafda grarg 9« :
A. T0T & YT | e grat g

B. ST & Y= & feraz gt g

C. T & g # gfg Srat &

D. TTAY R YT ¥ i ST &

= fag 7y fawedt & @ 9 ST HT 77 FQ

[Question ID = 2527][Question Description = S3_qSNz_PG_ECO_Q47]

A and D only/#a« A 3T D [Option ID = 10105]
B and C only/#=< B fT C [Option ID = 10106]
C and D only/#=< C 3% D [Option ID = 10107]
A and B only/#a A siiT B [Option ID = 10108]

A w N =

Correct Answer :-
e Aand D only/#ae A T D [Option ID = 10105]

48) Which of the following are a source of market failure?
A. The existence of public goods

B. The presence of externalities

C. The fact that some goods are rivals in consumption

D. The existence of monopolies

Choose the correct answer from the options given below:

fAafafea d @ 17 - araR AsaarF1E1a ¢ ?

A. aTdafas aege #1 srfRa<a

B. argravst &1 sufRerfy

C. g a=7 T 77 aeqq STWIT 7 gfaeasff §

D. THTIAHTY &7 srfdasa

19 frg oy fasea & & 9 SO H1 937 F]Af™T:

[Question ID = 2528][Question Description = S3_qSNz_PG_ECO_Q48]

1. A, B and D only/#a< A, B i D [Option ID = 10109]
2. A, Band C only/#a< A, B 3T C [Option ID = 10110]
3. B, C and D only/#== B, C #Z D [Option ID = 10111]
4. A, Cand D only/#=< A, C 3% D [Option ID = 10112]

Correct Answer :-
e A, Band D only/#a< A, B 3T D [Option ID = 10109]

49) Which of the following would reduce the credit creation capacity of a Commercial Bank?
A. Time and Demand deposits

B. Loans

C. Deposits with the Central Bank

D. Cash in hand

Choose the correct answer from the options given below:

fafataa d 4 g - 5T & 107 ITRTF §F 7 7T GIT AATTFT T SATCAT ?
A. rafyr g giw 97



B. =W

C. F7NT IF 3 79 TAT

D. grq & a%aT

= fRro e faseat 7 9 gt ITNTHT 77 MAT ¢

[Question ID = 2529][Question Description = S3_qSNz_PG_ECO_Q49]

A and B only/#a A 3T B [Option ID = 10113]
B and C only/#a= B 3fi= C [Option ID = 10114]
C and D only/#a C ¥ D [Option ID = 10115]
A and D only/#=< A 3T D [Option ID = 10116]

A W N -

Correct Answer :-
e Aand B only/#a< A &% B [Option ID = 10113]

50) Which of the following measures would result in an increase in the money supply in the economy?
A. Purchase of government securities from the public by Central Bank

B. Deposit of currency in Commercial Banks by the public

C. Borrowing by the government from the Central Bank

D. Sale of government securities to the public by the Central Bank

E. Minting of more money by the Central Bank for circulation

Choose the correct answer from the options given below:

fufafaa @ 9 fT SUTat * waeasy srfsraear & qar arqfd & gfey e 2
A. 70T 5 g0 FAATATRT & FIHFTA giogfaat 71 @i

B. SIATETIO FTTT ATINST® 5T # LIT TAT FIAT

C. AFR G FAT I & T AAT

D. T &% FTIT TAATHTIT FT FLHTH wiasgfaat 1 faswr

E. #5017 9% gr afmma & fog stfers gavsars / g

A9 frg g faseq & @ 9 S9THT 977 FA™7

[Question ID = 2530][Question Description = S3_qSNz_PG_ECO_Q50]

A, C and E only/#=< A, C ¥ E [Option ID = 10117]
B, C and D only/#a= B, C ¥ D [Option ID = 10118]
A, B and C only/#=<T A, B ¥ C [Option ID = 10119]
B, D and E only/#a= B, D =¥ E [Option ID = 10120]

AW N =

Correct Answer :-
e A, CandE only/#a< A, C 3% E [Option ID = 10117]

51) Inequalities in income are measured by which of the following?
A. Lorenz Ratio

B. Theil's Index

C. Palma Ratio

D. Deprivation Ratio

Choose the correct answer from the options given below:

faafafea 9 fvasd g1 sta / AqqTaqTs FTATITATATE ?

A. IS T

B. 379 gFAHIH

C. ITSHT AT

D. 99 AT

= fag oy fasedt & @ adt sae w1 997 v

[Question ID = 2531][Question Description = S3_qSNz_PG_ECO_Q51]

1. Aonly/#a A [Option ID = 10121]

2. Aand B only/#a A #iiT B [Option ID = 10122]

3. Aand D only/#=< A 3fT D [Option ID = 10123]

4. A, Band C only/#ae A, B =T C [Option ID = 10124]



Correct Answer :-
e Aonly/#a« A [Option ID = 10121]

52) Which of the following is/are true?

A. Ministry of Environment and Forests in India was established in 1985
B. Central Pollution Control Board was established in 1984

C. Environment Protection Act was enacted in 1990

D. National Environment Appellate Authority Act was passed in 1977

Choose the correct answer from the options given below:

fafafaad @ s - Fraafig?

A. ATIT | TG0 q T HATAT F7 TITIAT 1985 | % 97

B. FTT wgwor Ao 1< AT TATTAT 1984 F g AT

C. wafaTor dzaror sfarfaaw 1990 § srxew gaw a7

D. TrFTT watawoer srfiet aridrswew siferfaaw 1977 / arfya gsw v
= feg 7y fawedt & & 9 ST HT 7 F1T ¢

[Question ID = 2532][Question Description = S3_qSNz_PG_ECO_Q52]

A, B, C and D only/A, B, C ¥ D [Option ID = 10125]
B only/#== B [Option ID = 10126]

C only/#=< C [Option ID = 10127]

Aand D only/#a« A ¥ D [Option ID = 10128]

A w N =

Correct Answer :-
e A, B, CandD only/A, B, C 3% D [Option ID = 10125]

53) In which of the following ways have there been structural changes in agricultural and rural areas in India?
A. Crop diversification within agriculture sector

B. Diversification from livestock to crop husbandry

C. Diversification from non-commercial crops to commercial crops

D. Diversification from traditional inputs to modern inputs

Choose the correct answer from the options given below:

frafafaa & @ fa adst @ wreg / 5y strcardto &=t § giwmg ofadage g ?
A. Y & ¥ s fafysfimr

B. wqerw & @t - ATt F71 AT ffrefiweor

C. AT - ATIATIAF ®HAT & ATATATIAF wAAT #1 A< fafarefiwzo

D. ki srarat & swegfas swoat 31 A< frfyefia<o

A= frg g faFeat # @ @t ITTCHTIIT AT <

[Question ID = 2533][Question Description = S3_qSNz_PG_ECO_Q53]

1. A, C and D only/#a< A, C 3T D [Option ID = 10129]
2. A, Band C only/#a< A, B 3T C [Option ID = 10130]
3. A, Band D only/#a< A, B 3T D [Option ID = 10131]
4. B, C and D only/#a= B, C &= D [Option ID = 10132]

Correct Answer :-
e A, Cand D only/#a< A, C &% D [Option ID = 10129]

54) With reference to the programme 'NIDHI' which of the following statement(s) is/are CORRECT?
A. The programme of 'NIDHI' was started for students to begin startups

B. Its aim is to financially support 20 students for startups each year

C. Its aim is to financially support 200 students for startups each year

D. Its aim is to financially support only students of backward classes to start up each year

Choose the correct answer from the options given below:



fofyr (@ g st uw and) F1¥Fw & g2t § fafafaa & @ F17- & soqvadi g ?

A. Tty wrfEa frafiay & fag eerd - o sy F79 # forw gorar war

B. THFT IR ¥T Te€TE - AT & fug g aw 20 frarfiay 1 fa<fra agraqr szar g

C. TAFT ITLT TTE - AT & forw gT aw 200 frarfd=at a1t <o aygraar #aT8

D. THFTITLT TTE - A7 & T gT a¥ Haw fugs a7t & frarfiat 1t o< agraar Far g
= fro e faseat 7 @ gt INTHTITT MRNT ¢

[Question ID = 2534][Question Description = S3_qSNz_PG_ECO_Q54]

A and D only/#a= A 3T D [Option ID = 10133]
A and B only/#a= A 3% B [Option ID = 10134]
A, Cand D only/#a= A, C &% D [Option ID = 10135]
C and D only/#=e C i D [Option ID = 10136]

A W N -

Correct Answer :-
e Aand D only/#a A 3T D [Option ID = 10133]

55) Which of the following statements are CORRECT in regard to FDI in India in FY 2020?
A. Share of services sector is highest

B. Share of infrastructure activities is highest

C. Share of computer hardware and software is in the second position

D. Share of telecommunications is highest

Choose the correct answer from the options given below:

afafea 8 @ 17 - @ Fa7 f¥3fia ad 2019 - 2020 # 41T & veyw fasdt Mg d g7 a5t g ?
A. BT &7 571 gear afawaa g

B. aryTiaF do=aT fharwarat #71 fyeqar afaysaw &

C. T FTE AT ST Wigea < %71 fyear fedta eara av &

D. gTE =TT &7 fgear afyFaw &

= feg 7y fawedt & @ 9 STTHT T HH0C ¢

[Question ID = 2535][Question Description = S3_qSNz_PG_ECO_Q55]

. Aand C only/#ae A &iir C [Option ID = 10137]
. B and C only/#=< B 3w C [Option ID = 10138]
. Bonly/#a= B [Option ID = 10139]

. Cand D only/#a C 3% D [Option ID = 10140]

A w N -

Correct Answer :-
e Aand C only/&ae A T C [Option ID = 10137]

56) Consider the following statements about the rational expectations model :

A. Monetary policy cannot affect output and employment

B. Unanticipated changes will not affect real variables in the very short run

C. There is equilibrium in the markets

D. Economic agents use all relevant available information to form their expectations

Choose the correct answer from the options given below:

arfs® gearaT Atew ® IR ¥ fRufafas 997 9z faare Ao :

A. #rfes {fy faeta st e w7 watfag 9 sTasdt

B. arfy o srafyy & areafasw a0 w7 srwearirg sgara warfaa adf w3

C. ITT § e #1 fRafy g

D. =nf¥s srfdrwat (ASe) stoy weaterTal #7 sHTT I F THT ATTT STASY FAATS T TEAATT HIAT §
= feg g faswedt & @ 9 ST HT 77 F1T

[Question ID = 2536][Question Description = S3_qSNz_PG_ECO_Q56]

A, C and D only/&a= A, C % D [Option ID = 10141]
A, B and C only/#= A, B &< C [Option ID = 10142]
B, C and D only/#a B, C T D [Option ID = 10143]
A, B, Cand D/A, B, C &i¥ D [Option ID = 10144]

A wWwN =



Correct Answer :-
e A, CandD only/#ae A, C &% D [Option ID = 10141]

57) In the context of investments, which of the following statement(s) is/are CORRECT?

A. According to the accelerator model, investment demand is proportional to change in income
B. The higher the real interest rate, the higher is the rental cost of capital

C. Investment is a stock variable

D. The real rate of interest is equal to the nominal rate of interest plus the inflation rate

Choose the correct answer from the options given below:

a3 3 graf 7 FrafafRigsaaid sad aftg £ ?

A. @IF AT & FTAR I 717 307 § a@dq AT &

B. forar & areafas srsr T srfers Fraft STt & g 1 At s srfars et

C. fag us Teis 9T ]

D. ST T FTETTAFH TT AT H1 ATAF T T CRIEHITT TTH ATT FIAT JI7 H IS FIaAT
1= feg g faseat / & gt ST HT 977 Mo :

[Question ID = 2537][Question Description = S3_qSNz_PG_ECO_Q57]

A and B only/#a A 3% B [Option ID = 10145]

A and D only/#=< A 3fT D [Option ID = 10146]
B and C only/&a< B 3T C [Option ID = 10147]
C and D only/#=e C % D [Option ID = 10148]

A W N -

Correct Answer :-
e Aand B only/#a A &7 B [Option ID = 10145]

58) Which of the following statements are CORRECT for correlation analysis?
A. Degree of linear association is measured between two variables

B. Predictability is not part of correlation analysis

C. Spearman has no contribution to correlation analysis

D. Cause and effect relationship is established through correlation analysis

Choose the correct answer from the options given below:

geaay Fguu A AAfafaa A @ $t9 @ Faa g ?

A. T30 F 19 s dsg 1 I FrA79T SATAT B

B. QAT &1 aTHed agaa g FFww £71 917 787

C.9g - 9oy fAguw & & Ruawda F1FIE M7 981 &

D. g - s AT & ATeTT & FTLO AT WHATT FT Fa g w17 Frar srar &
Fr= feT 7y fawedi & § 987 STTHT 77 FT ¢

[Question ID = 2538][Question Description = S3_qSNz_PG_ECO_Q58]

1. Aand C only/F=< A 3% C [Option ID = 10149]
2. Band C only/#a= B 3fi C [Option ID = 10150]
3. Aand B only/#=<T A #iT B [Option ID = 10151]
4. Aand D only/#a A 3w D [Option ID = 10152]

Correct Answer :-
e Aand C only/#ae A T C [Option ID = 10149]

59) Which of the following are NOT properties of Cobb-Douglas production function?

A. Cobb-Douglas production function is a homogeneous production function

B. Curves representing average and marginal productivity of inputs are not downward sloping

C. Marginal productivity of labour and capital in Cobb-Douglas production function are functions of the capital-labour ratio
D. Iso-quants of Cobb-Douglas production functions are positively sloped

Choose the correct answer from the options given below:



afafRea 8 a 747 - 7T FIT - STAT ITYTIT GAT D [UAGT & ?

A. FIT - AT IIATIT AT TF AATATT ITATEIT FAT 8

B. aTwrq &1 | T T HATT STATIHAT FT IRATAIATT I a1d TF A @l TAaT T8 ©

C. FIT - TTTY ITYTET FAT & FH M TGS AT HATT ITYATIFHAT G - A SFTITT FT FAT 8
D. FIT - STAY ITYTIA FAT & TH - ICATIFH AF (AZAT - FISH) TATHTF €T 4 AAT &
= gy frseat & @ gt ST FTITT RN

[Question ID = 2539][Question Description = S3_qSNz_PG_ECO_Q59]

. A and B only/#a A 3T B [Option ID = 10153]

. B and D only/#=< B 3w D [Option ID = 10154]
. Band C only/#a+ B ¥ C [Option ID = 10155]
. Cand D only/#ae C & D [Option ID = 10156]

A W N -

Correct Answer :-
e Aand B only/#a A #iT B [Option ID = 10153]

60) Improvement in the balance of payments deficit may be effected through:
A. Import controls

B. Export promotion

C. Foreign exchange control

D. Devaluation

Choose the correct answer from the options given below:

TATTT AT A 9T § THI g FATFHFATATAFATE ?

A. sraTa Ao

B. faafa Sreqre

C. farzeft war fAg=or

D. ATHIT

= fag 7y fawedt & @ 9 ST HT 77 FIQ ¢

[Question ID = 2540][Question Description = S3_qSNz_PG_ECO_Q60]

. A, B, Cand D/A, B, C 37 D [Option ID = 10157]

. Aand B only/#a= A 3% B [Option ID = 10158]

. Cand D only/#=< C i D [Option ID = 10159]

. A, Band C only/#aw A, B T C [Option ID = 10160]

A w N -

Correct Answer :-
e A, B, CandD/A, B, C =T D [Option ID = 10157]

61) Which of the following are relevant conditions assumed by the Factor Price Equalization theorem?
A. The countries are characterized by different factor endowments

B. The countries are characterized by different production functions

C. The industries are characterized by different factor intensities

D. Each country will export the commodity which uses its abundant factor

Choose the correct answer from the options given below:

TIGT FIAT GAAT RAFTaT g7 P e a0 gavat FT ATATSATATR ?

A. 3 25 Fafss araT SeTsA e £ fFAawar aa €

B. & <91 T fafwer Seutes wwraf 1 Fqwararer €

C. & g=nw &t fafdrsr raa dtgar £1 fFrgwar a9

D. Wea#F 97 aEqal w71 faafa FTT 9T T8 T ATIT FT ITAT FIQ &
= feg g faswedt & @ 9 ST HT 77 F1T

[Question ID = 2541][Question Description = S3_qSNz_PG_ECO_Q61]

1. A, B and C only/#a A, B &% C [Option ID = 10161]
2. A, Cand D only/#== A, C 3T D [Option ID = 10162]
3. A, Band D only/#a= A, B iz D [Option ID = 10163]
4. B, Cand D only/#a B, C = D [Option ID = 10164]



Correct Answer :-
e A, Band Conly/#a A, B 3fiw C [Option ID = 10161]

62) Zero Based Budgeting (ZBB) lays emphasis on:

A. Allocation of resources based on cost-benefit terms

B. Unlimited deficit financing

C. Preparing a new budget right from the scratch

D. Preparing the budget, neglecting the history of expenditure

Choose the correct answer from the options given below:

A YT FqeT (T 1dT) ragacaaIaneg :

A. ITT - ATH AT I GTIT FATHHT I ATy s e

B. srfifarg afea faw swaear

C. &9 & AT I ATAFTT AT FIAT

D. =T & TIAETH #T ITHT FIT T IE AT FIAT

= fro e faseat 7 @ gt INTHFTITT MRT ¢

[Question ID = 2542][Question Description = S3_qSNz_PG_ECO_Q62]

A, B and C only/#a< A, B 3T C [Option ID = 10165]
A, C and D only/#a= A, C 3fT D [Option ID = 10166]
B, C and D only/#a= B, C = D [Option ID = 10167]
A, B and D only/#a< A, B 3w D [Option ID = 10168]

A W N -

Correct Answer :-
e A, Band C only/#a A, B i C [Option ID = 10165]

63) Which of the following statements are relevant for Gender Budgeting?
A. Preparing a separate budget for women

B. Gender budget is not practised by the Government of India

C. Evaluating budgetary provisions with a gender perspective

D. Gender budgeting is a tool for Gender Empowerment

Choose the correct answer from the options given below:

o srarfeg gwfew (e awfem & oo frafafag Fsaai @ sraaroa € ?
A. wfg@Tst & forg g aste gamAT

B. 9T LHTT GIXT A ST TS TATH &1 LI AT

C. forr (Se7) afthen @ 919 957 3 WTTATHAT FT LeTTHT

D. f&rw (FeT) gadisTw & fg ST aafeET uF qraa 5 €74 &

A= frg ry faFeat # @ @t ITTCHT 977 AT ¢

[Question ID = 2543][Question Description = S3_qSNz_PG_ECO_Q63]

1. Aonly/#a« A [Option ID = 10169]

2. Aand D only/#ae A i D [Option ID = 10170]
3. Cand D only/#=< C 3fi D [Option ID = 10171]
4. A, B, Cand D/A, B, C &% D [Option ID = 10172]

Correct Answer :-
e Aonly/#a A [Option ID = 10169]

64) Which of the following are true for the Environmental Kuznets Curve (EKC)?

A. The relationship between Income and Environmental damages take the shape of an inverted U

B. EKC is applicable in case of irreversible environmental damage

C. EKC holds true for global pollutants

D. EKC hypothesis intends to represent a long term relationship between economic growth and pollution

Choose the correct answer from the options given below:



T AT FAAH IF (S397) F G99 F fAafafaa 7 @ s - Fraag g ?
A. T 7 gataceitg afy & i Frady fodeq U STAF1T I a1

B. sryreaad 1T qafaxofiy &fy # ArAd § AT AT E

C.Afam wguai f Gag R SR AT AT &

D. £ & AT &1 WTHwAT MIT* dgfEg 7 wguwr & v Frufafyr ddg a3 F18
= fro e faseat & @ gt ITHTITT MRT ¢

[Question ID = 2544][Question Description = S3_qSNz_PG_ECO_Qé64]

A and B only/#a A 3T B [Option ID = 10173]
A and D only/#=< A 37T D [Option ID = 10174]
C and D only/#a C i D [Option ID = 10175]
A, B, Cand D/A, B, C fw D [Option ID = 10176]

A W N -

Correct Answer :-
e Aand B only/#a A #iT B [Option ID = 10173]

65) Which of the following statement(s) is/are CORRECT for environmental evaluation?

A. Travel cost method measures the recreational values of Environmental Resources

B. Hedonic pricing is used for environmental amenities associated with property values

C. Replacement cost method is used by substituting natural resources with a man-made equipment
D. Defensive expenditure deals with preventive measures

Choose the correct answer from the options given below:

Ttaoiy arwaT & fag frefafaad @ s17 - Fad saaafi g ?

A. FraT AT iy aafacefta dargat 797 - fAarg g At g

B. gaTews qeq fratww &1 yaw dufxr g7 & @afarg vatawoiiy giagrs & fag frarsrar g

C. sfvegras araq e $1 w7 wrg s dargat 1 arag A awger & yfvenfa sTfRarsrare
D. T&TeH® =¥ g faaTew SuTat & a5 faa g

= fag 7y fawedt & @ 9 ST HT 77 FIQ ¢

[Question ID = 2545][Question Description = S3_qSNz_PG_ECO_Q65]

A and B only/#a A 3% B [Option ID = 10177]

B and C only/#a= B 3fi= C [Option ID = 10178]
C only/%=< C [Option ID = 10179]

A, B, Cand D/A, B, C ¥ D [Option ID = 10180]

A w N -

Correct Answer :-
e Aand B only/#a A #iT B [Option ID = 10177]

66) Match List | with List I

List | List Il

A. Perfect competition I. Many real or perceived differences in products
B. Monopoly Il. Little or no difference in products

C. Monopolistic competition|lll. Identical products

D. Oligopoly |IV. Product without close substitutes

Choose the correct answer from the options given below:

AT -1 w7 AT -1l | gR v A

gt -l = -l

A. ot gfeeagt I. ST A AAF FTETTAD AAFT ATA AT A AT
B. THTIAFTT 1. ITUTT H/ T ATAT F1S HALA ZrAT

C. T afoeagt Il goedt StaTe

D. SreqTf®IT Iv. fase sqweT & fIa1 3eare

19 frg g fasweqt & @ afrsacgfg:
[Question ID = 2546][Question Description = S3_qSNz_PG_ECO_Q66]

A-1I,B-1V, C-1,D -l [Option ID = 10181]
A-1l,B-1,C-1l,D- IV [Option ID = 10182]
A-11,B-1V, C-I, D - Il [Option ID = 10183]
A-1ll,B-1V, C-1I,D- | [Option ID = 10184]

AW N =

Correct Answer :-



e A-Ill,B-1V, C-1,D -l [Option ID = 10181]

67) Match List | with List I

List | List Il

A. Menu cost I. Monetary Policy|
B. Quantitative Easing Il. Inflation

C. Pump Priming lll. Phillips curve
D. Trade-off between inflation and unemployment|lV. Fiscal policy

Choose the correct answer from the options given below:

AT -1 w7 AT -1l & gAfrg g .

gt -l AT -l

A. A7 AT I wYfes Afw

B. ATATCHE FAAAT Il garehRrfa

C. grasfas sfasay . fefereg ask

D. RETEHITT 7 IS IV. TSt A

19 frg oy fasweqt & @ g sacgfo:
[Question ID = 2547][Question Description = S3_qSNz_PG_ECO_Q67]

A-1,B-1,C-1IV, D - Ill [Option ID = 10185]
A-1,B-1l,C-1ll, D - IV [Option ID = 10186]
A-1I,B-1V, C-1,D- Il [Option ID = 10187]
A-1V,B-1ll, C-1I, D- | [Option ID = 10188]

A w N -

Correct Answer :-
e A-Il,B-1,C-1V,D- Il [Option ID = 10185]

68) Match List | with List I

List | List Il

A. Carl Friedrich Gauss

I. Central Tendency

B. Multicollinearity

Il. OLS

C. Mode

lll. Karl Pearson

D. Correlation coefficient IV. Relationship among explanatory variables
Choose the correct answer from the options given below:

A -1 FT AT -1 F gATa AT

gt -l gt -l

A. FTd wefea Tig I 57 wgfr

B. aga@R faar Il. 3 TaT U

C. IgAF . w1« fad

D. GgHS T TWF IV. eqesTd 93 & g a9y

19 frg g fasweqt & @ gt sacgfg:
[Question ID = 2548][Question Description = S3_qSNz_PG_ECO_Q68]

A-1V,B-1,C-1I, D - lll [Option ID = 10189]
A-1l,B-1V,C-1,D -l [Option ID = 10190]
A-11,B-1V, C-1ll, D - | [Option ID = 10191]
A-1,B-1V,C-1,D-Ill [Option ID = 10192]

A wWw N =

Correct Answer :-
e A-IV,B-1,C-Il,D-Ill [Option ID = 10189]

69) Match List | with List Il

List |

List Il

IA. Convex Function

|. Basic Variable

B. Input-Output Analysis

Il. Use of Derivative

C. Linear Programming

Ill. Hawkins-Simon condition

D. Marginal Propensity to Consume [IV. Demand Curve

Choose the correct answer from the options given below:

AT -1 w7 AT -1l & gRA g A .

gt -l

=T -l

A. STA BAT

I gq 9%

B. swra - fAva g

Il == (@ Feafea) w1 aarT




C. &= wraraT . gt arga ad
D. S\ q STHIT - Wy IV. 91T 9%
19 frg g fasweqt & @ gt sacgfAg:

[Question ID = 2549][Question Description = S3_qSNz_PG_ECO_Q69]

A-1V,B-1ll,C-1,D - Il [Option ID = 10193]
A-11,B-1ll,C-1,D - IV [Option ID = 10194]
A-1ll,B-1V, C-1,D - Il [Option ID = 10195]
A-1V,B-1,C-1ll, D - Il [Option ID = 10196]

A w N =

Correct Answer :-
e A-IV,B-Ill,C-1,D-Il[Option ID = 10193]

70) Match List | with List Il

List | List Il
A. Supply side of International Trade I. David Ricardo
B. Demand side of International Trade Il. Bastable and Alfred Marshall

C. Opportunity cost of International Tradelflll. G. Haberler
D. Real cost theory of International Trade |IV. Alfred Marshall and Edgeworth
Choose the correct answer from the options given below:

g -l FY gt -1 F gAfm v

gt -l g T -l

A. STTET ATITTHT g ff wer I. 2Tz fearst

B. ST ATITT HT AT Il. FTE2TS S{HT ATHS
C. ATUET ATYTT AT ATAL ATTA . sft. g«

D. AT TIT ATITL FT ATEATIH ATIQ IV. srewe ATe ST
fraia el

A9 frg g fasweqt & @ g sacgfg:
[Question ID = 2550][Question Description = S3_qSNz_PG_ECO_Q70]

1. A-1,B -1V, C-1I, D - Ill [Option ID = 10197]
2. A-1V,B-1,C-1l,D- Il [Option ID = 10198]
3. A-1,B-1V, C-lll, D- Il [Option ID = 10199]
4. A-1V,B-1,C-lll, D - Il [Option ID = 10200]

Correct Answer :-
e A-I,B-1IV,C-Il,D-Ill [Option ID = 10197]

71) Match List | with List Il

List | List Il

A. Canons of Taxation I. U. K. Hicks

B. Canons of Public Expenditure Il. Adam Smith

C. Effective Incidence of Tax lll. Findlay Shirras|
D. Benefit received approach of Public Expenditure|lV. Erik Lindahl

Choose the correct answer from the options given below:

AT -1 w7 AT -1l & gRA ¥ Ay

gt -l gt -l

A. FTTETT 3 fagia I 7. &, fg=a
B. grdwfas =w7 & fygia Il. wew feay
C. Y HT TATHT YT . feed farerg
D. grdsIfa® =aq & aT7 ATH H7T g¥FHT0 Iv. afts fRreter

= fegwrg faweat & | gt s fAT:
[Question ID = 2551][Question Description = S3_qSNz_PG_ECO_Q71]

A-11,B -1, C-1,D- IV [Option ID = 10201]
A-1,B-1l,C-1ll, D - IV [Option ID = 10202]
A-11,B -1, C-1V, D - | [Option ID = 10203]
A-1V,B-1,C-II, D - Il [Option ID = 10204]

AW N =

Correct Answer :-
e A-Il,B-IIl,C-1,D-IV[Option ID = 10201]

72) Match List | with List Il

List | List Il
IA. Security Exchange Board of India (SEBI) 1. 1991




B. National Securities Depository Ltd (NSDL) 1. 1992

C. Credit Rating Information Service of India Ltd (CRISIL) 1. 1988
D. Investment Information and Credit Rating Agency of India (ICRA)[IV. 1996
Choose the correct answer from the options given below:

AT -1 w7 AT -1l & gAY ffvg

AT - = -l
A. RrFg i g A @) 1. 1991
B. Fave faagfedis fraiforedt ™. (wa ga st wa) 1. 1992
C. & e e Swrwm e afdw sifw <Rar for. (Frfara) 1. 1988
D. SFATITAT TFHTIA T UT & fee T g+t st w Efeam (3 F1)IV. 1996

4= fegarg fasweat & @ gt s fAAT:

[Question ID = 2552][Question Description = S3_qSNz_PG_ECO_Q72]
A-1,B-1l,C-1ll,D- IV [Option ID = 10205]
A-1IV,B-1ll, C-1I, D - [Option ID = 10206]

1.
2.
3. A-llIl,B-1I,C-1V, D - [Option ID = 10207]
4. A-1l,B-1V,C-1ll,D -1 [Option ID = 10208]

Correct Answer :-
e A-I,B-1l,C-IlIl,D-IV[Option ID = 10205]

73) Match List | with List Il

List | List Il

A. Adam Smith I. Theory of Big Push

B. R. Rodan Il. Traditional Society

C. W. W. Rostow lll. Reserve army of labour
D. Karl Marx IV. Division of labour

Choose the correct answer from the options given below:

AT -1 w7 AT -1l @ gR T fifv

gt -l =T -l

A. TeT fRoy I 72 a8 #7 Rrgia (@8 @t fow ga)
B. ST, A 1. areafs gATs

C. Tovg, Tseg Treata |l sfx=t #7 swxfora ar

D. FTe OTFY IV. 577 fasrrere

19 frg oy fFsweq & € ggrsav AT
[Question ID = 2553][Question Description = S3_qSNz_PG_ECO_Q73]

A-1V,B-1,C-1l,D-Ill [Option ID = 10209]
A-1,B-1Il,C-1,D-IV[Option ID = 10210]
A-11,B-1l,C-1V,D-1[Option ID = 10211]
A-1,B-1V,C-1ll,D- Il [Option ID = 10212]

A W N -

Correct Answer :-
e A-IV,B-1,C-Il,D-Ill [Option ID = 10209]

74) Match List | with List Il

List | List Il

A. Conserving the Environment for benefit of the future generation I. Indirect use value
B. Search of Alternative fuels is necessary because traditional sources are non-renewablelll. Option Value

C. Wood from the forest is useful as timber lll. Bequest Value
D. Insects are important as they help in pollination IV. Use Value

Choose the correct answer from the options given below:

g -1 Fr gt -1 & gRAfra Ao

T -1 T -l
A. Srat F1 ITEY B STAT R forw aafeaor w1 e l. TqTTET
AT SAEINE S

B. Fqs® ST #1 €I MALTF § #4116 i ava
AT - FAHIO(TT TT ]
C. I9T & WTH AHET AT ThET & €T & STAAT FraT

Il. fasey g7

. F&aT e

D. #Y= - Ta® wg<aqof § #AFF § T F wET F@ & V. STATHET




13 frg oy faswear & @ gy sav AT
[Question ID = 2554][Question Description = S3_qSNz_PG_ECO_Q74]

A-1,B-1I,C-1ll, D - IV [Option ID = 10213]
A-1I,B-11,C-1V, D - [Option ID = 10214]
A-11,B-1V,C-1,D - lll [Option ID = 10215]
A-1l,B-1V, C-1I, D- I [Option ID = 10216]

A W N -

Correct Answer :-
e A-I,B-1l,C-Ill,D- IV [Option ID = 10213]

75) Match List | with List Il

List | List Il
A. NIRVIK I. A project directed to provide piped cooking gas to millions of households
B. Ayushman Bharat Il. A scheme to enhance energy efficiency

C. Pradhan Mantri Urja Ganga (PMUG) lll. Export credit insurance scheme

IV. Programme related to health issues in the primary, secondary and tertiary
sectors
Choose the correct answer from the options given below:

D. Perform, Achieve and Trade (PAT)

T -1 FT AT -1l | gRF Hifvg

g -l gt -l
I ATt afRET FT 75T F 1T THIS A I,
A. TT T MIATAE R G NN
B. TLSAATT WA Il. &= T&gaT gfg F37 F1 &=
C. TETTRAT St (Iﬁlll. faafa o a7 =i
T g 51)
D. fasarad, wifa = Iv. wrafas, fedfias 7 gdias a7 9 waresy
BT (T g 2l) RET & g wrdwa

19 frg g fasweqt & @ afrsacgfo:
[Question ID = 2555][Question Description = S3_qSNz_PG_ECO_Q75]

A-11,B-1II,C-1,D - IV [Option ID = 10217]
A-1ll,B-1V, C-1I, D - | [Option ID = 10218]
A-11,B-1V, C-1ll, D - | [Option ID = 10219]
A-1ll,B-1V, C-1,D - Il [Option ID = 10220]

A w N =

Correct Answer :-
e A-Il,B-IIl,C-1,D-IV[Option ID = 10217]

76) Arrange the following concepts of consumer behaviour in chronological order
A. Law of diminishing marginal utility

B. Law of demand

C. Revealed Preference Analysis

D. Indifference Curve Analysis

Choose the correct answer from the options given below

STHIHT AIRIR 1 FAAfia dFerarsdt £ FTARATIAT A :

A. graarT @rata Igarfar faaw

B. wiw =71 faaw

C. Sgrfea afzar faguo

D. sAwfarAT T% fagwor

= fag 7y fawedt & & 9 ST HT 977 F™T

[Question ID = 2556][Question Description = S3_qSNz_PG_ECO_Q76]

A, B, D, C [Option ID = 10221]
B, A, D, C [Option ID = 10222]
B, A, C, D [Option ID = 10223]
A, B, C, D [Option ID = 10224]

H

)

A w N =

» By

Correct Answer :-
e A, B, D, C[Option ID = 10221]



77) Arrange the following business cycles in ascending order in terms of their approximate duration.

A. Kondratiev cycle
B. Kitchin cycle

C. Jugular cycle

D. Kuznets cycle

Choose the correct answer from the options given below

rafafReg sraara IF7 w1 ITHRT AATET aafar & agare A 7§ 9 .
A. FregTfaua 9%

B. frfara =%

C. QAT AF

D. {SATH 9%

= fag 7y fawedt & @ 9 ST HT 7 F1™T

[Question ID = 2557][Question Description = S3_qSNz_PG_ECO_Q77]

C, B, A, D [Option ID = 10225]
B, C, D, A [Option ID = 10226]
A, C, B, D [Option ID = 10227]
D, A, C, B [Option ID = 10228]

)

’

A w N =

» Ay

Correct Answer :-
e C,B, A, D[Option ID = 10225]

78) ldentify the proper sequence in the traditional econometric methodology of conducting research

A. Data collection

B. Policy prescription

C. Testing of hypothesis

D. Formulation of hypothesis

Choose the correct answer from the options given below

are LT & ITRUTE wd fadiT vgfa 7 stya ww 1 ag=fag

A. AFSTETET

B. #fx - faafzor

C. gfeweqar &1 7OHT FIAT

D. wfxweaaT &7 fawfo

A= frg g faFeat # @ @t ITTHTIIT AT ¢

[Question ID = 2558][Question Description = S3_qSNz_PG_ECO_Q78]

1. D, A, B, C [Option ID = 10229]
2. A, D, B, C [Option ID = 10230]
3. D, A, C, B [Option ID = 10231]
4. A, B, C, D [Option ID = 10232]

)

» By

Correct Answer :-
e D, A, B, C[Option ID = 10229]

79) What is the CORRECT sequence of the following?
A. Uruguay Round

B. Kennedy Round

C. Doha Round

D. Geneva Round

Choose the correct answer from the options given below

fMasTafisaFa1] ?
A. STT AT
B. 33T 3R



C. BT T

D. 74T T

Fr= feg 7y fawedi & & 987 STTHT 77 F1f9Q ¢

[Question ID = 2559][Question Description = S3_qSNz_PG_ECO0_Q79]

D, B, A, C [Option ID = 10233]
B, D, C, A [Option ID = 10234]
. A, B, C, D [Option ID = 10235]
C, A, B, D [Option ID = 10236]

)

A wWwN -

» Ry

Correct Answer :-

e D, B, A, C[Option ID = 10233]

80) Arrange the introduction of the following taxes in India in chronological order.
A. Service Tax

B. Income Tax

C. Banking Transaction Tax

D. Gift Tax

E. Goods and Services Tax

Choose the correct answer from the options given below

e # fraferfag w30 %1 qeard 1 STaRarqa gafeag F1T :

A. 9T FT

B. STAFT

C. THT =TT HT

D. SYEIT FT

E. TS AT AT FT

A9 frg g fasweq & & 9 SO H1 937 f]Af™rw:

[Question ID = 2560][Question Description = S3_qSNz_PG_ECO_Q80]

A, C, E [Option ID = 10237]
C, E, D [Option ID = 10238]
A, D, E [Option ID = 10239]
A, C, E [Option ID = 10240]

’

AN wN -

)
Correct Answer :-

e B, D, A, C, E [Option ID = 10237]

81) Arrange the following committees appointed for the Banking sector in India in chronological order:
A. Urjit Patel Committee

B. Goiporia Committee

C. Narasimham Committee-1

D. Chakravarty Committee

Choose the correct answer from the options given below

NTT § &% 89 3 fou wfsq fawtafag afafaat 1 srasarga sgaftag Fiivg
A. 35T wea wfafy

B. wrzgfear afufa

C. wxfigm afaiy - |

D. IFadt afufy

Fr= fYT Ty fawedi & & 987 ST FT 97 FI9Q :

[Question ID = 2561][Question Description = S3_qSNz_PG_ECO_Q81]

D, C, B, A [Option ID = 10241]
A, C, D, B [Option ID = 10242]
C, B, D, A [Option ID = 10243]
D, B, C, A [Option ID = 10244]

A W N -

» By



Correct Answer :-
e D, C, B, A[Option ID = 10241]

82) Arrange the following in chronological order in which they were introduced:
A. SDGs

B. MPI

C. PQLI

D. HDI

Choose the correct answer from the options given below

frafafaa 1378 T | A F FIAFATIIT AT

A. T T T

B. T 9t s

C. ft g Ta g

D. T Tt s

= fro e faseat 7 9 gt ITNTHT 77 MAT ¢

[Question ID = 2562][Question Description = S3_qSNz_PG_ECO_Q82]

D, C, A, B [Option ID = 10245]
C, D, B, A [Option ID = 10246]
C, B, A, D [Option ID = 10247]
D, C, B, A [Option ID = 10248]

A W N -

)

Correct Answer :-
e D, C, A, B [Option ID = 10245]

83) Arrange the following United Nations Framework Convention on Climate Change (UNFCCC) conferences in chronological
order

A. Copenhagen Conference
B. Doha Conference

C. Paris Conference

D. Katowice Conference

Choose the correct answer from the options given below

FAATY INEET I FLT VY T BTG $a99 (T TT TH 41 a7 97) fraforfaa araa«t 1 srasaqgae qafag F17
A. FTRAZAT GERAT

B. ST FFRAT

C. afxw gvq o

D. FTEATTH FATT

Fr= frT g fawedi § & 987 ST HT 97 FI{9Q

[Question ID = 2563][Question Description = S3_qSNz_PG_ECO_Q83]

B, C, D, A [Option ID = 10249]
D, C, B, A [Option ID = 10250]
. A, B, C, D [Option ID = 10251]
C, D, B, A [Option ID = 10252]

A W N -

’

Correct Answer :-
e B, C, D, A [Option ID = 10249]

84) Consider some of the schemes/programs introduced by the Government of India to enhance agriculture productivity
and farmer's income. Arrange them in chronological order of their appearance.

A. Soil Health Card Scheme

B. Kisan Credit Card Scheme

C. Pradhan Mantri Fasal Bima Yojana
D. Doubling Farmers' income program

Choose the correct answer from the options given below



F Y Iearawar T frarai #1 sn7 § g5 77 3 97 9reg awwm gy axw 1 7 ehqt / ardwat 9 A fite s sTw
AT 3T AT B FTABATTHTS ATT

A. T TJTEET FTE JIFAT

B. frara e w1 wfiw

C. YaTAH A waa 7T AT

D. fraTaY #T s FY TITAT HIA FT FTAFHA

1= feg g faweat /@ & ot STCHT 977 FfoNT

[Question ID = 2564][Question Description = S3_qSNz_PG_ECO_Q84]

B, C, D [Option ID = 10253]
A, C, D [Option ID = 10254]
, C, A, D [Option ID = 10255]
A, D

1
2.
3.
4 , C [Option ID = 10256]

Correct Answer :-
e A, B, C, D [Option ID = 10253]

85) Arrange the following Committees of poverty estimation in chronological order:
A. Alagh Committee

B. Lakdawala Committee

C. Tendulkar Committee

D. Rangarajan Committee

Choose the correct answer from the options given below

fadaar stwwra £ frafafag afafoat 1 srasarga ang :

A. stwg gfafy

B. w&eTaTAT AfAfy

C. dgmwx wfufy

D. st afwfa

19 frg g faseqt & & 9 sATH1 977 Vg :

[Question ID = 2565][Question Description = S3_qSNz_PG_ECO_Q85]

B, C, D [Option ID = 10257]
C, B, D [Option ID = 10258]
, C, A, D [Option ID = 10259]
A, C, D [Option ID = 10260]

AW N =

Correct Answer :-
e A, B, C, D [Option ID = 10257]

86) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: A lumpsum tax imposed on a monopolist cannot be shifted to the consumers.
Reason R: The lumpsum tax becomes a part of his fixed cost and it does not affect the marginal cost of production.

In light of the above statements, choose the most appropriate answer from the options given below

A A FITRTCATE : TF AT9FI7 (A) B T7R AT IT @I ST FXU (R) F FI4R ¢

FfuFIT (A) : THITAFTATE 7T AMOTIT THALT FFT ITATHTA I FINT T FarArasvar 8

HTI (R) : THALT FT ITST et v %7 fHeqr g7 a6aq1 § T I ITUTIT 1 HARTT AT97T F7T TA74T FLAT
SYUT FIAT B AT A, A9 f¥T 1w fAweai & § 999 STLF ST FT AT F1907

[Question ID = 2566][Question Description = S3_qSNz_PG_ECO_Q86]

1. Both A and R are correct and R is the correct explanation of A/(A) 3T (R) Z4T @&l & ¥ (R), (A) FT "1 ==m@ar € [Option ID = 10261]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3% (R) T #=T & 79 (R), (A) FT Tgr =xmear 91 & [Option ID = 10262]
3. Alis correct but R is not correct/(A) 5l § weeq (R) @&l &f & [Option ID = 10263]
4. Ais not correct but R is correct/(A) Ha T2 g 9%=q (R) @t & [Option ID = 10264]

Correct Answer :-



e Both A and R are correct and R is the correct explanation of A/(A) ¥ (R) T @&l & ¥ (R), (A) T @&t =41=471 § [Option ID = 10261]

87) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: There is no incentive for a profit maximising producer to supply public goods
Reason R: If he produces it, he is unable to exclude people from consuming it and hence he cannot charge a price

In light of the above statements, choose the most appropriate answer from the options given below

A A wyTfeuaw : uF AfwwaT (A) P ®7R fqfa g 97 @ SaS F1O7 (R) F €I4R ¢
afwFHaT (A) : ATH FY ATAFIT TR IR STUTIH F g Arasias aegar 3 fag #1<€ Nearga g g

FTXO (R) : IFE T THFT ITUTIT FLAT R, AZ AT BT STFHT STHNT FLA & IfgSHT F7 § 9499 g T saforg ag ge7 arfiea
T FLAFATZ

STUT AT B srAls /@, A9 fEg v fAweqt & @ 999 STLH ST FT IIT 19T ¢
[Question ID = 2567][Question Description = S3_qSNz_PG_ECO_Q87]

1. Both A and R are correct and R is the correct explanation of A/(A) 3T (R) Z¥T @&T & ¥ (R), (A) T "1 =9m=a7 § [Option ID = 10265]

2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3% (R) T @2l & 931 (R), (A) FT @&t =xmear 981 & [Option ID = 10266]
3. Afs correct but R is not correct/(A) @&t g 7] (R) @&t 75l & [Option ID = 10267]

4. Ais not correct but R is correct/(A) H=r 9=t g 9%=q (R) @&t & [Option ID = 10268]

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) 3i (R) 9l &&T & 3T (R), (A) #¥ #&r =1=a7 & [Option ID = 10265]

88) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: New capital accumulation is the vehicle of technical progress
Reason R: Technical progress is embodied in new machines

In light of the above statements, choose the correct answer from the options given below

A T FTfRTITE : TF ATFIT (A) P TUR AT T @I STR FIOU(R) F €I ¢
FFFTT (A) : T A EFTT THATHT FTATED &

HTIW (R) : gt wafy 94T wefi=t d afafga dr g

STUT ®IA1 B ardls &, A9 fag 1y Fweqt § @ 999 STLH ST FT 77T F1(7 ¢
[Question ID = 2568][Question Description = S3_qSNz_PG_ECO_Q88]

Both A and R are true and R is the correct explanation of A/ (A) #iT (R) 3T @ & 37T (R), (A) &1 @& ==t & [Option ID = 10269]

Both A and R are true but R is NOT the correct explanation of A/(A) ¥ (R) =1 77 &, @ (R), (A) T @gT =am=aT 921 g [Option ID = 10270]
Ais true but R is false/(A) 17 g, “f%+ (R) srEeT & [Option ID = 10271]

Ais false but R is true/(A) s g, % (R) ¥ & [Option ID = 10272]

A w N =

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) 3% (R) 319 <7 § &Y (R), (A) & &1 =@m@ar & [Option ID = 10269]

89) Given below are two statements:

Statement I: Social Welfare Function (SWF) is a sort of social indifference map consisting of the Social Indifference Curves
(SICs) which shows the various combination of utilities that gives the same level of social welfare (SW).

Statement ll: Social Indifference Curves (SICs) may not be convex or concave to the origin

In light of the above statements, choose the most appropriate answer from the options given below

fa T FgT T !

FYT - | : AT FSATT GAT (TH TS TH) TH TR FT ATATINF ATTAATT ATT™NA § fad €F G979 T F7TAIANF Fq707
(TH T5e) T_T19 FL arat Fafsr dasrat w7 qaqfq arx qrarhors safaara 9% (qa ) 2

FAT - Il : FTATIAF FATGATT 9% IURN & ITA AT ATAA AT &1 FF
STUF FIAT D AqaATH q, 2 fXq 7T AFT | | G99 STLH ST HT AT FIHNC ¢
[Question ID = 2569][Question Description = S3_qSNz_PG_ECO_Q89]

Both Statement | and Statement Il are correct/®=+ | i< || Tt @&l € [Option ID = 10273]

Both Statement Il and Statement Il are incorrect/®= | 3 |l ZT41 T@d & [Option ID = 10274]
Statement | is correct but Statement Il is incorrect/#=« | #&l €, f3eq 4+ || 7@ g [Option ID = 10275]
Statement | is incorrect but Statement Il is correct/®%¥ | T7q g, foeq #a= || 7&r & [Option ID = 10276]

A W N -



Correct Answer :-
e Both Statement | and Statement Il are correct/= | 3fi% || 1=t @&l & [Option ID = 10273]

90) Given below are two statements:

Statement [: One of the assumptions under OLS method states that the regression model is linear in the parameters, though
it may or may not be linear in the variables.

Statement Il: The variance of the error, or disturbance, term is not the same regardless of the value of the explanatory
variable under OLS.

In light of the above statements, choose the most appropriate answer from the options given below

=7 A syTfrgred:

FAT - | & v vd 3y 3 siqeda s qgFamor a5 § 5% aaraan gisw durdtet § s § aafr a3 & ag s agdi «t g
qFATE

FIT- 1l : 3 TT QT F FTAT T FIX a7 I KT LT FF W1 &1, T F7 77707 vt e w a3 ¢F aATT g7 &
STUT FIAT B MATH A, A9 f¥T TC fAFeq1 & | 999 STLT ST FT IIT F19(T ¢
[Question ID = 2570][Question Description = S3_qSNz_PG_ECO_Q90]

1. Both statement | and statement l are correct/#= | &fi¥ || FT @21 & [Option ID = 10277]

2. Both statement | and statement Ll are incorrect/®2< | 3ii¥ |l =M1 Tq & [Option ID = 10278]

3. Statement L is correct but statement [l is incorrect/®+ | @2T & , foeq 2+ |l 7@ € [Option ID = 10279]
4. Statement L is incorrect but statement Ul is correct/®= | 17 g, foeq F27 Il T T [Option ID = 10280]

Correct Answer :-
e Both statement | and statement Il are correct/®=+ | 3% || =i =l & [Option ID = 10277]

Topic:- Economics_SHAAN_NOV21B

1) Read the following passage and answer the question based on it

The study titled, "Monetary Policy Transparency and Anchoring of Inflation Expectation in India" constructs an index of
monetary policy transparency for India and examines the role of transparency in anchoring inflation expectations. Empirical
results show that the degree of policy transparency has indeed increased substantially since the adoption of Flexible
Inflation Targeting (FIT) in 2016. Further, empirical evidence suggests that inflation expectations of professional forecasters
and households were anchored, in weak-form, in the post-FIT period, though households' expectations did not necessarily lie
within the inflation tolerance band. During the transition period (between the self-imposed disinflationary glide-path since
2014 and adoption of the FIT) both realized inflation and expectations followed a declining path, which resulted in a
positive association between them. During the pre-transition period, when explicit inflation target was absent. expectations
were also reasonably anchored, albeit, at a higher level.

frefafaa et F7 afe iz s g srarfia vt 3 ST At :

"HTied arirdT STaa it U UHiar i w T 99 TaaaFe 4 3 A1 ofif= srewgs & wrea ® forg wifgs A fa wreefdar
FTTF GAHTH TATAT TAT § AT FERTehia weararst & Radweor & graffar @t gfasr ar sia fr a1 @ swgafas afcors qafa
g % 2016 # Fv7 TRTEHRITT T&T (THIAMELT) FT T 1L FHT IR F q7% & A7 qeafdar 3 sta & areq9 9 ageaqor gf5 g &
¥, srywias arex 31T FTa1 € FF gafgars aamara Iaa s afat< #71 garedtfa woaramd tharsdt & a1 1 qyafar &
FATIT TT A R AT Ty afeadt #1 woarard sfvard w99 garedifa ag @0 @ Facad ot 770 17 [2014 F
TTATAT AFERTART TZTT (ATEE) ATH M THAEE F7 T H1T FRg 19 F 972 ] F AW areafas garehify 1 wearame
AT ALY AT g AT Fradt ofeofa @@ =9 uF gF1ews dda q g8 GFAT qd F1 A4ty F QAT I GEIE AR
TET ATARAT AT, TATATE AT, % ISFIT T I & T, aqf¥g vv @ Ry o

Which time span has been described as the transition period of monetary policy?

faafafea 9 @ g srarafa s aifs Al sTaFauw FTAa FETTATR ¢
[Question ID = 198][Question Description = S3_qSNz_PG_ECO_Q91]

2014-2016/2014-2016 [Option ID = 789]
2016-2020/2016-2020 [Option ID = 790]
2000-2014/2000-2014 [Option ID = 791]
2008-2014/2008-2014 [Option ID = 792]

A w N =

Correct Answer :-
e 2014-2016/2014-2016 [Option ID = 789]



2) Read the following passage and answer the question based on it

The study titled, "Monetary Policy Transparency and Anchoring of Inflation Expectation in India" constructs an index of
monetary policy transparency for India and examines the role of transparency in anchoring inflation expectations. Empirical
results show that the degree of policy transparency has indeed increased substantially since the adoption of Flexible
Inflation Targeting (FIT) in 2016. Further, empirical evidence suggests that inflation expectations of professional forecasters
and households were anchored, in weak-form, in the post-FIT period, though households' expectations did not necessarily lie
within the inflation tolerance band. During the transition period (between the self-imposed disinflationary glide-path since
2014 and adoption of the FIT) both realized inflation and expectations followed a declining path, which resulted in a
positive association between them. During the pre-transition period, when explicit inflation target was absent. expectations
were also reasonably anchored, albeit, at a higher level.

frefafaa et F7 afev sz s g srarfeg w31 % ST Aifvw :

AT ariET STaa T U UFTT A% ST a9 TFaaF2 9 39 3 (AT efio s Aeqqw § w1a & o 7yfas Frfq areafdar
FTUF GAFTH TATAT TAT § M FERTedhia wearamst & Radweor & greffiar #1 qfasr St sig fr a1 @ swgwfas oo qafa
& £ 2016 & 77 YaTeRIfy weq (THaMEEY) F1 Tftw1< Frg 9 3 a3 @ Ay Teaffiar @ da 7 areqa @ ageaqwt gfa g @
ardr, srawias arey 3rq w31 & O gafgars aamara e sh< ofar<t #1 garedtfa wearamd tharsdt & a1 #1 qafay &
FATIT ET A Ry AT Ty afeard 1 waarard afvard w9 9 garedifa ag €913 Faeadd ot 770 F19[2014 §F
TATOTIT ATEHRITIRT TZTT (TATS) AT AT THATSET FT €A 1H1X (HTATH & 77 | F AT qreatasw garesiio T wearard
T FFE AT g At FrEdr afeorfa 78 19 ¢F GFHF GG q g GHAT QI B AT F QA I ECE LRI
FE FIARAT AT, TATATC HY, FUH IFAL T I T q, agfaa &q 8 R o

What happened to the anchoring of inflation expectations?
HETERITT weararrsh & Radawwor (GHam) w1Fa71 590 ?

[Question ID = 199][Question Description = S3_qSNz_PG_ECO0_Q92]

1. Inflation expectations anchored in a strong form/HgTehIfa TeTeTd Tor<h &7 # {227 g2 [Option ID = 793]

2. Inflation expectations anchored in a weak-form in the post FIT period. /T a1 1 % a1g #it srafer § qerefifa yeamemd w@siv w7 § 2w g2 [Option ID =
794]

3. There was no association between realised and expected inflation/aTeafa i SeaTfara qarehifa & A daer 7! = [Option ID = 795]

4. There was a negative association between realised and expected inflation/s & # < 7 weaTfarg qeehifa & swormes == =1 [Option ID = 796]

Correct Answer :-
e Inflation expectations anchored in a strong form/HaTefifar sreamermd Fors =7 § & g€ [Option ID = 793]

3) Read the following passage and answer the question based on it

The study titled, "Monetary Policy Transparency and Anchoring of Inflation Expectation in India" constructs an index of
monetary policy transparency for India and examines the role of transparency in anchoring inflation expectations. Empirical
results show that the degree of policy transparency has indeed increased substantially since the adoption of Flexible
Inflation Targeting (FIT) in 2016. Further, empirical evidence suggests that inflation expectations of professional forecasters
and households were anchored, in weak-form, in the post-FIT period, though households' expectations did not necessarily lie
within the inflation tolerance band. During the transition period (between the self-imposed disinflationary glide-path since
2014 and adoption of the FIT) both realized inflation and expectations followed a declining path, which resulted in a
positive association between them. During the pre-transition period, when explicit inflation target was absent. expectations
were also reasonably anchored, albeit, at a higher level.

frefafaa et F7 afew iz s v g srarfig vt % s fifvrg :

"qTired arirdt Sraaidt Uve UHiar i w T 99 TaaaFe 4 39 A1 of it srewgs & wrea # forg wifas A fa wreefdar
FTTF GAFTH TATIT TAT § AT LERTehT Teramsft & Radweor & qrefdar €1 qfasr ar siwx fr 7§ 8 swgwfas ooy qafa
g % 2016 & F77 TRTEHITT A& (THIAMELT) FT T FHT IR F 777 F A7 qeafdiar 3 sta & areq9 9 ageaqo gf5 g |
ardr, srawias arex 31ra w31 € FF gafgarT aomara Iaast st afiat< 71 garedtfa woamamd ghsrsdt & a1 1 qyafar &
FAMITET A R AT Ty afeardt #1 soaramd sfvearf w99 garedifa agr @ar s Aacadl o w70 10 [2014 §
TATOTT Sraefi I TgT9 (TATS) ATH T CHAES 77 T iw1T FHT IR & 977 | $ AU areafas garediia a wearamd
AT ALY AT g Tt Fadt ofeorfa 7@ =9 0F gF1eas dda 7 g5 GFAT g F1 A4y F QAT I GEIOE AR
TET ATIRAT AT, TATATE AT, T YA T I & Tt auf>a v @ Ry o

Which of the following index has been constructed?
afafra 8 & $17 971 gIHis FArATTITR ?

[Question ID = 200][Question Description = S3_qSNz_PG_EC0_Q93]

Index of monetary policy /s #ifa f==i= [Option ID = 797]

Index of inflation expectations/HaTEHIf TeaTerT gt [Option ID = 798]

Index monetary policy transparency for India/#Ted & forw #tfee i wreafdar g==i= [Option ID = 799]
Index of transparency/aTZafaT g=rai= [Option ID = 800]

A W N -



Correct Answer :-
o Index of monetary policy/#Tfse =1 g==i= [Option ID = 797]

4) Read the following passage and answer the question based on it

The study titled, "Monetary Policy Transparency and Anchoring of Inflation Expectation in India" constructs an index of
monetary policy transparency for India and examines the role of transparency in anchoring inflation expectations. Empirical
results show that the degree of policy transparency has indeed increased substantially since the adoption of Flexible
Inflation Targeting (FIT) in 2016. Further, empirical evidence suggests that inflation expectations of professional forecasters
and households were anchored, in weak-form, in the post-FIT period, though households' expectations did not necessarily lie
within the inflation tolerance band. During the transition period (between the self-imposed disinflationary glide-path since
2014 and adoption of the FIT) both realized inflation and expectations followed a declining path, which resulted in a
positive association between them. During the pre-transition period, when explicit inflation target was absent. expectations
were also reasonably anchored, albeit, at a higher level.

frefafaa et F7 afe sz s g srarfig vt 3 ST Aifvrg :

"HTied arirdT STaaidt U UHiar i w T 99 TaaaFR 4 3 A1 ofif= srewgs & wrea ® forg wrfas A fa wreefdar
FTTF GAHTH TATAT TAT § AT FERTehia weararst & Radweor & graffar @t gfasr ar sia fr a$ @ swgafas afcors qarifa
g % 2016 # Fv7 TRTEHRITT T&T (THIMELT) FT T 1L FHT IR F 777 F A7 qeafdiaT 3 sta & areqq 9 ageaqor gf5 g &
¥, srywias arex 31T FTa1 € FF gafgars aamara Iasy st afiat< #71 garedtfa woaramd tharsdt & a1 #1 yafar #
FATIT TT A R AT Ty afeadt #1 woarard sfvard w99 garedifa ag @0 @ Facad ot 770 17 [2014 F
TTATAT AFERTART TZTT (ATTE) ATH ML THAEE 7 T H1T FHT 13 F 972 ] F AW qreafas garehify 1 wearame
T ALY AT g AT Fradt ofeofa @@ =9 uF gF1eas dda q g8 GFAT qd F1 Ay F QAT I GEIE AR
TET ATIRAT AT, TATATE AT, % ISFIT T I & agt, auf¥g v @ Ry o

What has empirical evidence shown?

afafeg 9 @ a1 srgafas arg safarTar g ?

[Question ID = 201][Question Description = S3_qSNz_PG_EC0O_Q94]

1. Degree of policy transparency declined/={Tr areafsar & sier # fiwrae ss & [Option ID = 801]

2. Degree of policy transparency increased/=1f areafédiar & sfer & gf5 g5 & [Option ID = 802]

3. Degree of policy transparency increased but after coming into force of FIT./ffq waffar # st F gfz g &, W TR M A F AR e & a2
[Option ID = 803]

4. Actual inflation turned out to be high/aTeafa® qarefifa 3 W& & [Option ID = 804]

Correct Answer :-
e Degree of policy transparency declined/=1far areafstar & sier & fierae s & [Option ID = 801]

5) Read the given passage and answer the questions that follow

One argument of protection that stands up to close economic scrutiny is the infant-industry argument. It holds that a nation
may have a potential comparative advantage in a commodity, but because of lack of knowledge and the initial small level of
output, the industry cannot successfully compete with more established foreign firms. The infant-industry argument for
protection is correct but requires several important qualifications. First, such an argument is more justified for developing
nations, where capital markets may not function properly. Second, as experience has shown that protection, once given, is
difficult to remove. Third, what trade protection in the form of import tariff can do an equivalent production subsidy to the
infant industry can do better. The reason is that a purely domestic distortion such as this should be overcome with a purely
domestic policy such as direct production subsidy to the infant industry. A production subsidy is also a more direct form of
aid and it is easier to remove than an import tariff. A better policy would be to provide a direct subsidy to the industry.
Similarly, a direct tax would also be better than a tariff to discourage activities that give rise to external diseconomies
because the tax does not distort relative prices and consumption.

fretafa meara w7 ofsT s s g sratfeg w1 % saTdfvg .

"ATfREd arfvEt SRt U UHIT e TR a9 Tra g 39 3 A7 ofidw wewww F wiww ® fow Avfas iy areatdar
HTUF GAHTH TATATTAT & AT GETERT T1amst & Radwoor & greaffar &« qfasr Sy g f v w€ & srgwfas wfcory gata
g % 2016 # 7 garehifa agq (THMEET) FT T w1 Forg 17 3 972 & A7 q1eafdar # sta & areaq § ageaqe gfa gl s
ardr, swaAias® areg 31rq w31 & FF gafqarT aarmara aga i< afar< £ garedtfa searamd uwansdY & a1 #1 qafay &
FATIT ET A R AT Ty afeardt #1 wearard sfvard w9 9 garedifa ag @913 Facadd oF 770 17 [2014 F
TATOTIT ATERITIRT TETT (TATES) ATH T TRAEET 7T T 11T FHRTATR & 77 | 3 AT qreaftas garediio T wearard
AT AFULT ATH 9T TAT oot ofvofy 378 =7 gF avIreas a5g # g3 GFA0 O o1 Aty & ST I T Treh i
TET ALARAT AT, TITATE |, FqF IFAL €A I T T, T &7 § Ry a7

Inflation expectations of which group was empirically tested?

frafafaa & @ frg gag 37 garedfa vearsrsat 1 stgafas adeo fear a7 ?



[Question ID = 202][Question Description = S3_qSNz_PG_ECO_Q95]
1. Only of professional forecasters/#a qATTHIT RIT7 AT 4971 FT [Option ID = 805]
2. Only of Households/&aer 7ft=m< T [Option ID = 806]
3. Both of professional forecasters and Households/qafe®T @1+ aTer 99w 3T qfvari 2t 71 [Option 1D = 807]
4. Neither of professional forecasters nor Households/d TaTqATH @I aTer F2rai 7 3T 7 &1 7far<t &7 [Option ID = 808]

Correct Answer :-

® Only of professional forecasters/#a@ TATIATT @TH a1 J2ra< 7 [Option ID = 805]

Topic:- Economics_SHAAN_NOV21C

1) Read the given passage and answer the questions that follow

One argument of protection that stands up to close economic scrutiny is the infant-industry argument. It holds that a nation
may have a potential comparative advantage in a commodity, but because of lack of knowledge and the initial small level of
output, the industry cannot successfully compete with more established foreign firms. The infant-industry argument for
protection is correct but requires several important qualifications. First, such an argument is more justified for developing
nations, where capital markets may not function properly. Second, as experience has shown that protection, once given, is
difficult to remove. Third, what trade protection in the form of import tariff can do an equivalent production subsidy to the
infant industry can do better. The reason is that a purely domestic distortion such as this should be overcome with a purely
domestic policy such as direct production subsidy to the infant industry. A production subsidy is also a more direct form of
aid and it is easier to remove than an import tariff. A better policy would be to provide a direct subsidy to the industry.
Similarly, a direct tax would also be better than a tariff to discourage activities that give rise to external diseconomies
because the tax does not distort relative prices and consumption.

Frefafa T g 7 eaEF T8F @ T T4 F ST T ¢

HIHTFTTH T AT ATHF GEATOAFT FT STHT GTAAT FIAT § 9 & AL STVNT ATAT TS THFT ATAAT & 7% FFET g 3 979
et aeq # GFATH qAATHT FIAT T AHAT §, T ATA ® AATT § ST ITATE HT ITHF FH ATAT F% 997 a8 SATTA
gaafay Rt afosr &1 awaargd® garadr 7@ FTA1ar g dI@or B g fAg - S ATAT IF AET R I T9H F%
HECAYT AT #T MALTAHAT &

agaT, YAt a& fasradta gl & fag sfers w1 7 w3a g1 gu, aqua ag faar g1 g 5 afs g aredgn 2 frarvarar
S® STAT FIST EIATR AT, T AT GG AITT Lo B T R AT T AFAT §, ITT TEAC AT T I FT FALT
SITYTET TS -ARTAAT IFT AT AT AFATE TAHT FTILT TG & 56 T THTL B fIqg R Frwaw w7 faAg I=T 7 Icae Ieara
TS - gTaar A fFrgs R A7 @ € T A1 I1fRT 19 g STITIT S - Tgraavr # 7 ATqF weae €7 AT 38 s aA7q L
FT AT A ATAH AATAT & GETATATAFAT g SgaL AT g g1 {36 STTT HT TT& TS - AFTAAT T ATY IHT THIC a1
AATHAT FT T=7 AT FRATHATT HT gATATIRT R & AT oF @ ST ATH FTEINT FH11h T F ATT & AT 3T STHIT & 7T
g agt #ar g

Which is the most appropriate instrument of trade protection?
FTITT WIAT FTATH STLH ATHT FIT - T8 ?

[Question ID = 203][Question Description = S3_qSNz_PG_ECO_Q96]
1. Import tariff/smaTa 0= [Option ID = 809]

2. Export tariff/ff=fa == [Option ID = 810]

3. Non-tariff barriers/¥ - g[= wfaawr [Option ID = 811]

4. Production subsidy/3caTes T1<T - @gaT [Option ID = 812]

Correct Answer :-
e |mport tariff/smaTa ¢eF [Option ID = 809]

2) Read the given passage and answer the questions that follow

One argument of protection that stands up to close economic scrutiny is the infant-industry argument. It holds that a nation
may have a potential comparative advantage in a commodity, but because of lack of knowledge and the initial small level of
output, the industry cannot successfully compete with more established foreign firms. The infant-industry argument for
protection is correct but requires several important qualifications. First, such an argument is more justified for developing
nations, where capital markets may not function properly. Second, as experience has shown that protection, once given, is
difficult to remove. Third, what trade protection in the form of import tariff can do an equivalent production subsidy to the
infant industry can do better. The reason is that a purely domestic distortion such as this should be overcome with a purely
domestic policy such as direct production subsidy to the infant industry. A production subsidy is also a more direct form of
aid and it is easier to remove than an import tariff. A better policy would be to provide a direct subsidy to the industry.
Similarly, a direct tax would also be better than a tariff to discourage activities that give rise to external diseconomies
because the tax does not distort relative prices and consumption.

fafafag meia #7 ea@yEs 729 0@ TT I # ST :



WIGHT FTTH TS AT AMTTF GEATOAFT FT STHT ATAAT FIAT & 98 & (AL STVNT ITAT TS THFT ATAAT & 5% FFATT7g 3 979
et qeg @ FEATH TATTHS SITTET GFAT §, TG ATT D FAATT § T ITATT FT TIIRHTF FH ATAT FS 00 98 SATTA
gaafeaq AR et IfasTai 1 awaargd® GFHFITAT AL FT AT 8 GX@q0 $ fog fgy - =1 a19A7 I8 AET @ U I9H FE
HECAYO AT AT AMAITFHAT &

TgaT, YT a% fasrasdta gl & fag safers w1 7 F3@ gF guw, aqua ag faar g g 5 afs s aredgn 2 frarvarar
S® 1T F{5T EraT ] T, FT AT TIXHW AATT Lo B T R QAT AT AFHAT ¢, ITT IZAC G0 F¥Y ST FT GATeT
STYTET T -GFTAAT IFL FRATATAFATE TAFT FTIV TG 7 £ 37 TH1X 3 FAgg@ oy Frewor 7 farg 3= 31 wege Seq1e7
TS - FETIAAT AT FIqEm R 17 & 1 g FTAT A1RT a7 T ITATIT ST - TETIAAT FT ATHAF T 7 § T T/ AT LF
FT AT A AT AT | GEIAT AT AFATE SEAT AT a8 Gt 13 ITTTFT T0qe TS - AETIAAT T ATY AT THTIC g
FATAT FT =7 AT FRATHATIT FT FATATRT F37 F FHQ o7 § IgIT AT FL AT FIH I FT AT LFIT AT ITATTN F7T
frequ gl AT @

Developing countries are characterised by:

a3t & FAfrzar it g -

[Question ID = 204][Question Description = S3_qSNz_PG_ECO_Q97]

1. Absence of both money markets and capital markets/¥aT aTSIT1 ST ST STSITT 2141 7 sqafeafa [Option ID = 813]
2. Improper functioning of the capital markets/dsft aTsTe1 #T 21 & T4 7 %77 [Option ID = 814]

3. Improper functioning of money markets/¥aT STSITZ} T &1 & F14 7 AT [Option ID = 815]

4. Absence of capital markets/dsiT aTsiTt T srqafeafa [Option ID = 816]

Correct Answer :-

e Absence of both money markets and capital markets/HsT aTSTel S YSft TSI T AT safeafa [Option ID = 813]

3) Read the given passage and answer the questions that follow

One argument of protection that stands up to close economic scrutiny is the infant-industry argument. It holds that a nation
may have a potential comparative advantage in a commodity, but because of lack of knowledge and the initial small level of
output, the industry cannot successfully compete with more established foreign firms. The infant-industry argument for
protection is correct but requires several important qualifications. First, such an argument is more justified for developing
nations, where capital markets may not function properly. Second, as experience has shown that protection, once given, is
difficult to remove. Third, what trade protection in the form of import tariff can do an equivalent production subsidy to the
infant industry can do better. The reason is that a purely domestic distortion such as this should be overcome with a purely
domestic policy such as direct production subsidy to the infant industry. A production subsidy is also a more direct form of
aid and it is easier to remove than an import tariff. A better policy would be to provide a direct subsidy to the industry.
Similarly, a direct tax would also be better than a tariff to discourage activities that give rise to external diseconomies
because the tax does not distort relative prices and consumption.

frefafaa Teria 7 sa@Ed s T2H @ TT I/ 3 AL AT ¢

HIHTHTTH qd A1 ATTF GERITOAFT FT STHT ATAAT FIAT @ 9 @ ALY ITNT I1AT % gGHRT ATAAT 8 3% FFadr g & ary
et aeq # TFEATH qATTHS AIAT G GHAT §, TG AT D AATT A AT ITATT HT TXEHTF HH ATAT HS 908 a8 SATTA
gHafRay faedt 7fasTay &1 awaargd® gHRraAr g FT 71§ G B 7@ A - ST ATAT IF AET R UG T F%
AR AT HT MALTFHAT &

TEAT, TAT aF fawradta gl & e sfers w14 7 F3@ 7 g9, aqua a8 fTar 3w § O afs s aredgn 2 frarvarar
Y STAT FIST EIATR TN, T AT GG AATT Lo¢F B T | AT T AFAT §, ITT TZAC G T I FT FALA
ITTET TS -HFTAAT IFT AT AT AFATE TAHT FILT T § 56 T THTL F FAq@ e Freqw w7 fag I=T #F7 aeqe IearaeT
T - GETAar Kt fagg e AT & € g FAT AT q19 & STUTIA TS - FGTAAT FT ATAF We7q €9 ¢ AT I AT LoF
FT AT H AfUF ArATHT A GETAT AT AFATR SgAC AT g 9 P ITTT FT wewey TS - agrAAv ¥ A0Y IHY TH1T AT
AATHT FT T=7 IAATA FRATHATI FT gAIATIRT HL3 & AT QLo @ ST ATH FT EINT FH1 130 TE T ATTE AT ST STHIT & 7T
freqw Tt FLaT

The obstacles for an industry to compete with more established foreign firms are due to:

geariia 3ot wfastal @ garaar #37 & T =7 F1 767 FI0 F I197T AT 8 ?

[Question ID = 205][Question Description = S3_qSNz_PG_ECO_Q98]

1. Lack of know-how and initial small level of output/sTT =T 79T 3% IcaTe T TR %7 ATAT [Option ID = 817]
2. Lack of flexibility/@=freraw =T er9mar [Option ID = 818]

3. Lack of markets/aTsI<i &7 37377 [Option ID = 819]

4. Lack of human resources/dT= HATLAT T AT [Option ID = 820]

Correct Answer :-
e Lack of know-how and initial small level of output /=TT FT ST T Ieqre HT TEIHF w7 ATAT [Option ID = 817]

4) Read the given passage and answer the questions that follow



One argument of protection that stands up to close economic scrutiny is the infant-industry argument. It holds that a nation
may have a potential comparative advantage in a commodity, but because of lack of knowledge and the initial small level of
output, the industry cannot successfully compete with more established foreign firms. The infant-industry argument for
protection is correct but requires several important qualifications. First, such an argument is more justified for developing
nations, where capital markets may not function properly. Second, as experience has shown that protection, once given, is
difficult to remove. Third, what trade protection in the form of import tariff can do an equivalent production subsidy to the
infant industry can do better. The reason is that a purely domestic distortion such as this should be overcome with a purely
domestic policy such as direct production subsidy to the infant industry. A production subsidy is also a more direct form of
aid and it is easier to remove than an import tariff. A better policy would be to provide a direct subsidy to the industry.
Similarly, a direct tax would also be better than a tariff to discourage activities that give rise to external diseconomies
because the tax does not distort relative prices and consumption.

faafafg meia #7 eamyds qe9 @@ T I & SAcdfve

HIHT KT TH Td J1 AT F GERIOAT FT STHT ATAAT FIAT @ 9 @ AL STNT I1AT % gGHKT ATAAT & 3% AT g & arw
et aeg # TEATH qATTHSF FIAT &1 GHAT §, TG AT AATT A T STATT FT TIXEHAF FH ATAT HE I8 a8 SATTA
g fRyd ARt IfasTal 7 aRaqrgdF AHTTAT TET FTITATE GLHT & f7Q fAgy - =T 797 T8 TET § I A F%
AL AT HT FALTFAT 3

IgaT, YT a% fawradta gt ® fe sfers w14 7 F30 g7 g9, aqa ag fTar g7 § O afs s areagn 2 frarvarar
9 STAT FIST EIATR FTHLM, T AT GG AITT LoF B T | AT T IAFAT 8, ITF TZAC T TG I FT FALET
STYTEA TS -HETATAT IF FRATIATAFATE TAHT FTIV A & T 37 791 3 FAgr@ o Frsqor #7 g ST 11 v IaareT
TS - FgTaar A frgg R AT @ € g A1 A1RY a1 € STUTIT U - TETAAT FT ATAF a8 €7 § T T8 AT Lo
F1 AT A afyrs i F AT AT gHATE SgAC AT a8 Froft 3 ITT RV Teqe TS - AETAAT ST AT AT THIC A1
AATHT FT =7 AT FHATHFATIT FT FATCATIRT T F AT CFF & TETTTCAH FEINT FI11F T FT ATXL LAT AT ITATT F7T
freqw Tt FTaT §

Which of the following is effective in preventing external diseconomies

Frafafaa @ @ $17 - IT g AATH FTAFR A IATHTEATE ?
[Question ID = 206][Question Description = S3_qSNz_PG_ECO_Q99]

1. Trade policies/zamam ife=rt [Option ID = 821]

2. Production subsidies/3caTas TS - Ag&dT [Option ID = 822]
3. Adirect tax/9e@er # [Option ID = 823]

4. Tariff/g=F [Option ID = 824]

Correct Answer :-
e Trade policies/=ma= 1fa=T [Option ID = 821]

5) Read the given passage and answer the questions that follow

One argument of protection that stands up to close economic scrutiny is the infant-industry argument. It holds that a nation
may have a potential comparative advantage in a commodity, but because of lack of knowledge and the initial small level of
output, the industry cannot successfully compete with more established foreign firms. The infant-industry argument for
protection is correct but requires several important qualifications. First, such an argument is more justified for developing
nations, where capital markets may not function properly. Second, as experience has shown that protection, once given, is
difficult to remove. Third, what trade protection in the form of import tariff can do an equivalent production subsidy to the
infant industry can do better. The reason is that a purely domestic distortion such as this should be overcome with a purely
domestic policy such as direct production subsidy to the infant industry. A production subsidy is also a more direct form of
aid and it is easier to remove than an import tariff. A better policy would be to provide a direct subsidy to the industry.
Similarly, a direct tax would also be better than a tariff to discourage activities that give rise to external diseconomies
because the tax does not distort relative prices and consumption.

fafafag Teaia #7 ea@yEs 729 0@ TT I F SATAT

HIHTHTTH TH 1 ATTF GEAITOAFT FT STHT ATAAT FIAT & 9 ¢ (AL STNT I1AT %% gGRT ATAAT & 3% AT g & arw
fRdt Teq § aFATH qAATHT FTAT T AHAT §, T FTA & AWTT § T ITATT AT ITIHF FH ATHAT F3 99 a8 ST
gaafRyq ARt IfAsTa 7 aRaqrgdF GHITAT TET FTITATE T $ f7Q fAgy - =T 797 T8 TET @ IR A F%
AT ATT HT MILTFAT §

TgaT, YT a% fawradta gt ® e safes w14 7 F30 g7 g9, a9 a8 Tar g § O afs s areagn : frarvarar
9 ESTAT FIST raT g TTHLT, [T AT GG AATT LoF d €T H ATIATIAFAT §, ST Tgq< & T {4 ST FT FALST
ITUTIA S -HETAAT IFL AT AT AFATE TAFT FTIW A & T T8 TFR * fAgg o fFrEao #71 fargg =i #1 weae SeuraT
TS - ggTaar A€ frgg R AT @ € gr TAr Frfye ara € SuraT U - Ggraar # 1 Af¥F 7eae €9 § T g8 ara7q eh
FT AT A AfYF AT/ GEIATATAFAT S SEAC ATTT a8 Gr3ft T3 ITTT T Teqe TS - TETAAT T AT AT THIT TG
AATHT FT 7 AT FHATHFATIT FT FATCATIRT FIF F I L7 & TETTTCAH FT AT FIT1F T FT ATXL LAT AT ITAT FT
freqw At FaT g



Which of the following is a direct aid to domestic industry?

faafafea 9 @ #17 - @ R ST F1 T GETaarg ?

[Question ID = 207][Question Description = S3_qSNz_PG_EC0_Q100]
1. Import controls/#maTa f5==rr [Option ID = 825]

2. Import quota/3maTa #TeT [Option ID = 826]

3. Production subsidy/3eqTa T - Hg@dr [Option ID = 827]

4. Patent rights/¥2= & «1farsTe [Option ID = 828]

Correct Answer :-
e Import controls/#maTa f==r [Option ID = 825]





